AR
TBAI"

®
TBAIShondong W&M Bearing Co., Ltd.

EiE/fEH Tel/ Fax: 86-635-2859023

FH/Mob: +86-15806967023 ( Wechat, WhatsApp )
BBF&/E—mail: alina@wmbearings.com
Rgt/Http://www.wmbearings.com

ik WWEAREHIESHBEBEIWRX Add: Shandong.China

TBAI

W&M BEARING

ONNVae VUL

Shandong W&M Bearing Co., Lid.

Professional transmission equipment supporting enterprises




® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

;I Company profiles

Shandong W&M Bearing Co., Ltd. is a professional manufacturer of
transmission components, focusing on linear guide, linear optical axis, linear
slider, linear bearing, linear sliding unit series and other products.The company
is located in Linging City, Shandong Province, with convenient traffic, unique
geographical location and convenient traffic environment.The company has
management, R&D, production, quality inspection, sales and other
departments, plant area of 2000 square meters, the company has advanced
precision numerical control equipment and testing equipment, as well as many
years engaged in bearing production staff. The company strictly organizes
production according to national standards (GB) and international standards

(1SO). The main products have reached the quality level of substituting similar
imported products. The straight-line guide can be exchanged with HIWIN brand
from Taiwan. It is well received by customers at home and abroad.To thank the
vast number of users as always to our support and love, we will be more

superior product quality, first-class service, and the vast number of customers to

seek common development! Welcome customers from all over the world to visit

our factory and negotiate business !

01 02




®
TBAI Shandong W&M Bearing Co., Lid.

03

H %5 & 2 5]

Linear bearing series

ot R
AJ: FEER
OP:F O &

EEHD
U: S@EEs
UU: ME &

—— =EAIiES

(ERRFEFER

iz R

——— LM: B&HERS

(REIRSTEMERT2)

LM...UU

4h7%&F S Designation

LM...UU RT3 B8 LM...AJ LM...OP

(FrofERY) Ball circuit Weight(g) (1E]pif 2 2Y) (FFAEY)
LM4UU 4 1.9 - -
LM5UU 4 4 Z N
LM6UU 4 8 LM6-AJ -
LM8UU 4 11 LM8-AJ -
LM8UU 4 16 LM8-AJ -
LM10UU 4 30 LM10-AJ LM10-0P
LM12UU 5 31.5 LM12-AJ LM12-OP
LM13UU 5 43 LM13-AJ LM13-OP
LM16UU 5 69 LM16-AJ LM16-OP
LM20UU 6 87 LM20-AJ LM20-OP
LM25UU 6 220 LM25-AJ LM25-OP
LM30UU 6 250 LM30-AJ LM30-OP
LM35UU 6 390 LM35-AJ LM35-OP
LM40UU 6 585 LM40-AJ LM40-OP
LM50UU 6 1580 LM50-AJ LM50-OP
LM60UU 6 2000 LM60-AJ LM60-OP
LM80OUU 6 4420 LM80-AJ LM80-OP
LM100UU 6 8600 LM100-AJ LM100-OP
Y0 REMAZE Major Di/rr\1ensi0ns and Tolerance

(hRfERY) B 2 A% Tolerance(mm)

Shaft diameter ¥E  Precisio JUEZER) ¥EE  Precisio P(Ei&%HR)

LM4UU 4 0 0

LM5UU 5 -0.005 -0.008

LM6UU 6

LM8UU 8

LM8UU 8

LM10UU 10 —%.006 —%.oog
LM12UU 12

LM13UU 13

LM16UU 16

LM20UU 20

LM25Uu 25 007 0.0010
LM30UU 30

LM35UU 35

LM40UU 40 0008 00012
LM50UU 50

LM60UU 60 0 0

LM8OUU 80 -0.009 -0.0015
LM100UU 100 0010 0.020

®
TBAI Shandong W&M Bearing Co., Ltd.

H %50 & 2 5

Linear bearing series

|
|
|
D1
D

=iy,

LM

LM...UU

RIEF2AZ  Major Dimensions and Tolerance
szlf\jﬁ'/ﬁlég D A% (mm) L 2% (mm) B 2% (mm) w
(mm) Tolerance | (mm) | Tolerance | (mm) | Tolerance | (mm)
LM4UU 8 0 12 0 - - -
LM5UU 10 ~0.006 15 0012 1 402 11
LM6UU 12 19 13.5 1"
LM8UU 15 9 006 17 o, 15 11
LM8UU 15 24 17.5 "
LM10UU 19 29 22 2, 1.3
LM12UU 21 30 23 1.3
LM13UU 23 . 32 24 23 1.3
LM16UU 28 -0.006 37 26.5 1.6
LM20UU 32 42 30.5 1.6
LM25UU 40 59 41 1.85
LM30UU 45 64 44.5 0 1.85
LM35UU 52 70 49.5 -0.3 21
LM40UU 60 | Do | 8 | 9, |05 2.1
LM50UU 80 100 74 2.6
LM60UU 90 0 110 85 o4 |31
LM8oUU 120 0006|140 105.5 4.15
LM100UU | 150 | Q.06 | 175 125.5 4.15
RIEFZAZ Major Dimensions and Tolerance
(mm) (mm) (mm) Dynamic CN | Statoc CoN
LM4UU - - - - 88 127
LM5UU 9.6 - - - 167 206
LM6UU 1.5 1 - - 206 265
LM8UU 14.3 1 - - 176 216
LM8UU 14.3 1 - - 274 392
LM10UU 18 1 6.8 80° 372 549
LM12UU 20 1.5 8 80° 510 784
LM13UU 22 1.5 9 80° 510 784
LM16UU 27 1.5 1 80° 774 1180
LM20UU 30.5 1.5 11 60° 882 1370
LM25UU 38 2 12 50° 980 1570
LM30UU 43 25 15 50° 1570 2740
LM35UU 49 25 17 50° 1670 3140
LM40UU 57 3 20 50° 2160 4020
LM50UU 76.5 3 25 50° 3820 7940
LM60UU 86.5 3 30 50° 4700 10000
LM80OUU 116 3 40 50° 7350 16000
LM100UU 145 3 50 50° 14120 34800
04



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

H %5 & 2 5]

Linear bearing series

H %50 & 2 5

Linear bearing series

LME...UU LME...UU

ih&ES Designation REFZA% Major Dimensions and Tolerance
LME...UU BRI E2 LM...AJ LM...OP L L EUE D AZ (mm) L | Amm) | B AZmm) | W
Ball circuit Weight(g) (T8 B B2 2Y) (FFAEY) 8 (mm) Tolerance | (MmM) | Tolerance | (MM) | Tolerance | (Mm)
LME4UU 4 1.9 - - W w| LME4UU 8 12 | 94 . - .
LME5UU 4 11 LME5-AJ - S LME5UU 12 —%. 008 22 14.5 1.1
LMESUU 4 20 LMES-AJ - LME8UU 16 25 16.5 1.1
LME10UU 4 29.5 LME10-AJ LME10-OP e LME10UU 19 26 0 22 0 1.3
LME12UU 5 41 LME12-AJ LME12-OP } LME12UU 22 —%. 009 32 0.2 29 | 2 1.3
LME16UU 5 57 LME16-AJ LME16-OP LME16UU 26 36 24.9 1.3
LME20UU 6 91 LME20-AJ LMEZ20-OP . LME20UU 32 45 315 1.6
LME25UU 6 215 LME25-AJ LME25-OP v@{f.'g LME25UU 40 _%_011 58 441 1.85
LME30UU 6 325 LME30-AJ LME30-OP g_' LME30UU 47 68 0 52.1 0 1.85
LME40UU 6 705 LME40-AJ LME40-OP : LME40UU 62 0 80 -0.3 60.6 -0.3 2.15
LME50UU 6 1130 LME50-AJ LME50-OP & LME50UU 75 -0.013 100 77.6 2.65
LME60UU 6 2050 LMEG0-AJ LME60-OP LME60UU 90 0 125 0 101.7 0 3.15
LMESOUU 6 5140 LME60-AJ LME60-OP S LMESOUU 120 “0.015 | 465 | 04 1337 04 4.15
REFZAZ  Major Dimensions and Tolerance RE#MZA% Major Dimensions and Tolerance | %iEfa%F Fitingsload
LME...uu RHEREE R#E Tolerance(mm) LME...UU D1 f E s BT
L L. ¥&E  Precisio J(EZR) #5E Precisio P(EiER) (R (mm) (mm) (mm) & Dynamic CN | Statoc Co N
LME4UU 4 LME4UU - - - - 88 127
Em Eﬂ LMESUU 5 TRy LME5UU 11.5 1 - - 206 265
LME8UU 8 +0.008 LMESUU 15.2 1 - - 265 402
LME10UU 10 0 LME10UU 18 1 6.8 80° 372 549
R R LME12UU 12 LME12UU 21 15 7.5 78° 510 784
AJ: GRS
OP:F Q& LME16UU 16 +0.009 LME16UU 24.9 15 10 78° 578 892
N LME20UU 20 -0.001 LME20UU 30.3 2 10 60° 862 1370
Ul Qé%? LME25UU 25 0011 LME25UU 37.5 2 12.5 60° 980 1570
UU: WE % H LME30UU 30 ' LME30UU 44.5 2 12.5 50° 1570 2740
. LME40UU 40 LME40UU 59 3 16.8 50° 2160 4020
- '(%’é%m}%%%) LME50UU 50 j&§()123 LME50UU 72 3 21 50° 3820 7940
LME60UU 60 LME60UU 86.5 3 27.2 54° 4700 9800
MERT LMESOUU 80 LMESOUU 116 3 36.3 54° 7350 16000

—— LM: BE&BARS
(REIRSTEMERT )

06




®
TBAI Shandong W&M Bearing Co., Lid.

®
TBAI Shandong W&M Bearing Co., Ltd.

H %5 & 2 5]

Linear bearing series

” -!

AL o AR LIS
0000000000

D1

LM...LUU

S| UNIT. 1N=0.102kgf Efii: mm
EPREAL: IN=0. 102kgf Unit: mm

07

L= T = Internz? il?ameter Oute riili\;%neter .:;?Eth
Model No | man et | Veight NE N NE
(g) dr Tolerancel D Tolerancel L Tolerancel
LM6LUU 4 16 6 12 0 35
LM8LUU 4 31 8 15 | 0013 | 45
LM10LUU 4 62 10 _%_010 19 55
LM12LUU 5 80 12 21 0 57 0
LM13LUU| 5 9 | 13 25 | P e | 0
LM16LUU 5 145 16 28 70
LM20LUU 6 180 20 32 80
LM25LUU| 6 a0 | 25 | Qoip | 40 ] o0 | 112
LM30LUU 6 580 30 45 123
LM35LUU 6 795 35 0 52 0 135 0
LM40LUU 6 1170 | 40 -0.022 60 -0.022 154 -0.4
LM50LUU 6 2100 | 50 80 192
LmeoLUU| 6 3500 60 | 0. | 90| O . |2
B WLE | REERAZE EARHR
= Eccentricity Radlal Basic load rating
Model No NE W D1 (max) clearance CN CoN
Tolerance um tolerance
LM6LUU | 27 1.1 | 11.5 15 15 324 529
LM8LUU | 35 1.1 | 143 15 15 413 784
LM10LUU| 44 1.3 18 15 15 588 1100
LM12LUU| 46 _%_3 1.3 20 15 15 657 1200
LM13LUU| 46 1.3 22 15 15 814 1570
LM16LUU| 53 1.6 27 15 15 1230 | 2350
LM20LUU| 61 1.6 | 30.5 20 20 1400 | 2750
LM25LUU| 82 1.85| 38 20 20 1560 | 3140
LM30LUU| 89 1.85| 43 20 20 2490 | 5490
LM35LUU| 99 7%.4 21 49 25 25 2650 | 6470
LM40LUU | 121 21 57 25 25 3430 | 8040
LM50LUU | 148 26| 765 25 25 6080 [ 15900
LM60LUU| 170 3.15| 86.5 25 25 7650 | 20000

H %50 & 2 5

Linear bearing series

U AT Z 7 1
fo0 000000000 000000000005

LME...LUU

SI UNIT. 1N=0.102kgf E{i: mm
EFREAL: 1N=0. 102kgf Unit: mm

- Az MR KE
e TR Wei?ht Internal diameter Outerdlamfter Length
Model No | Bali circuit | o) &l = D NE L NE
9 Tolerancel Tolerancel Tolerancel
LMESLUU 4 31 | 8 | w0009 | 16 | o000 | 45
LME12LUU 5 80 | 12 | ~0.001 22 0 57 0
-0.011 -0.3
LME16LUU| 5 145 | 16 | g 011 26 0.0 70
LME20LUU 6 180 | 20 | ~0.001 32 80
LME25LUU| 6 440 | 25 | w0013 | 40 | Sous | 112
LME30LUU| 6 580 | 30 | "0-002 | 47 123
LME40LUU 6 1170 | 40 62 0 154 0
+0.016 -0.015 0.4
LME50LUU 6 3100 50 -0.004 75 . 192
LME6OLUU| 6 3500 | 60 90 | D020 |21
_ B ROE | EEERAE EARHE
BS o D1 Eccentricity Radlal Basic load rating
Model No NE (max) clearance CN CoN
Tolerance pum tolerance °
LMESLUU | 33 1.1 ] 15.2 15 15 431 784
LME12LUU| 45.8 0 1.3 21 15 15 657 1200
LME16LUU| 49.8 -0.3 1.3 | 249 15 15 1230 | 2350
LME20LUU| 61 1.6 | 305 17 20 1400 | 2750
LME25LUU| 82 1.85| 38 17 20 1560 | 3140
LME30LUU|104.2 0 1.85 | 44.5 17 20 2490 | 5490
LME40LUU(121.2 04 215 | 59 20 25 3430 | 8040
LMES50LUU|155.2 265 | 72 20 25 6080 | 15900
LME60LUU| 170 3.15 | 86.5 25 25 7650 | 20000
08



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

E=HEZMARRT E=HEZWMERRS

Flange linear bearing series Flange linear bearing series
LMF...UU S . ot ot LMK...UU BBl 0. 1021 Unit
BS Model No InternaV? :iiéameter Outerf:lli\::?neter Lﬁ{ggth Lﬁﬁh ES ModelNo |nternap? giiéametel’ Outerz]i\;%neter Lfr{;gth LJeL/?E{th
' L= Iud B;ﬁili]ri&uit We;iiggﬁ(g) dr ToI/eLE?ncel b Tolgﬁcel L Tolgaﬁncel bt Tolgaﬁncel LMK...UU Biﬁili]riiuit We:ii;ﬁ(g) ar Tolgaﬁncel - Tolgaﬁncel L Tolgfncel b1 Tolcﬁa%ncel
e . LMF6UU 4 265 | 6 12 19 28 LMK6UU 4 185 | 6 12 19 28
\ —— LMF8SUU 4 34 8 15| 9., L7 32 LMK8SUU 4 23 8 15 | 9 on | 17 32
‘- LMF8UU 4 40 8 | , 15 24 32 LMK8UU 4 29 8 15 24 32
‘. LMF10UU 4 78 | 10 | -0.009 | 19 2] 40| LMK10UU 4 61 [ 10| D400 [19] o 20| 9, |40
P e LMF12UU 4 76 | 12 21| o 30| -02 [42]| -02 LMK12UU | 4 56 | 12 21 | 70913 30 2| 9,
./ LMF13UU 4 9 | 13 23 | 70013 | 3 43 LMK13UU 4 75 | 13 23 32 43
g LMF16UU 5 134 | 16 28 37 48 LMK16UU 5 104 | 16 28 37 48
LMF20UU 5 180 | 20 32 42 54 LMK20UU 5 145 [ 20| o 32 42 54
LMF25UU 6 340 | 25| 9 [40] O |59 62 LMK25UU 6 300 | 25| 0010 [40 | 9046 [59 62
" LMF30UU 6 460 | 30 45 64 74 LMK30UU 6 375 | 30 45 64| 74
I — LMF35UU 6 795 | 35 . 52 . 70 _%_ 5 |82 r—o # LMK35UU 6 692 | 35 % o1z 52 . 70| 03 |82
= A LMF40UU 6 1054 | 40 | 9012 | 60 | 0019 | 80 % | | LMK40UU 6 864 | 40 ' 60 | 0019 | 80 96
§'§ LMF50UU 6 2200 | 50 _ 80 _ 100 16| -03 1 | T LMK50UU 6 2020 | 50 80 100 16| 0.
§ | LMFéOUU | 6 2960 | 60 | 0015 | 99| —p.op2 [ 110 134 ‘. | |mkeouu | 6 2520 [ 60 | 9 |90 | 9, | 110 134
§.§‘ __di |
s —cl S e ,\
; e N o = e ‘ = LR OE | aEEms e
- - e |t ) | gemree [ on | o o shapn | | | b [ o ] o
LMF6UU | 5 | 20 | 3.4x6.5x3.3 12 12 = o1 p LMK6UU | 22 | 5| 20 | 3.4x6.5x3.3 12 12 -5 21 27
LMF8SUU| 5 | 22 | 3.4x6.5.3 e 1 = s | 23 LMK8SUU | 25 | 5| 24 | 3.4x6.5x3.3 12 12 -5 18 23
LMF8UU | 5 | 22 | 3.4x6503.3 > 12 = 7 | a1 LMK8UU | 25 | 5| 24 | 3.4x6.5x3.3 12 12 -5 27 41
LMF10U0 | 6 | 20 | 25x8xa4 12 12 = % | 56 LMK10UU | 30 | 6 | 29 | 4.5x8x4.4 12 12 -5 38 56
LMF1200 | 6 | 32 | 25:8xa4 o > = 2 | o1 LMK12UU | 32 | 6 | 32 | 4.5x8x4.4 12 12 -5 42 61
LMF1300 | 6 | 33 | 25:xa4 > > S = | 79 LMK13UU | 34 | 6 | 33 | 4.5x8x4.4 12 12 -7 52 79
LMF16U0 | 6 | 38 | 2524 > > r; 7o | 120 LMK16UU | 37 | 6 | 38 | 4.5x8x4.4 12 12 7 79 | 120
LMF200U | 8 | 23 | 5505054 e 5 o 58 | 140 LMK20UU | 42 | 8 | 43 | 5.5x9.5x5.4 15 15 -9 88 | 140
LMF250U | 8 | 51 | 55:0 5054 5 5 o 100 | 160 LMK25UU | 50 | 8 | 51 | 5.5x9.5x5.4 15 15 -9 100 | 160
LMF300U | 101 60 | 6.6x11x6.5 5 5 o 160 | 280 LMK30UU | 58 | 10| 60 | 6.6x11x6.5 15 15 -9 160 | 280
LMF350U | 101 67 | 6.6x11x6.5 2 0 3 170 1 320 LMK35UU | 64 | 10| 67 | 6.6x11x6.5 20 20 -13 170 | 320
LMF20UU | 13| 78 | ox12x6.0 20 20 13 220 | 410 LMK40UU | 75 | 13| 78 | 9x14x8.6 20 20 -13 220 | 410
LMF50U0 | 13| 98 | 9x14x86 2 20 13 390 | 810 LMK50UU | 92 | 13| 98 | 9x14x8.6 20 20 -13 390 | 810
LMF60UU | 18| 112 | 11217 5x10.8 Py Py o 280 | 1020 LMK60UU | 106 | 18| 112 [11x17.5x10.8 25 25 -13 480 | 1020

09 10



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

E=HEZMARRT E=HEZWMERRS

Flange linear bearing series Flange linear bearing series

S| UNIT. 1N=0. 102kgf EAfi: S| UNIT. 1N=0. 102kgf EAfi:
LMF"'LUU =R 1N=O.102kggf Unlii: 22 LMK"-LUU EPREAL: 1N:0.102kggf Unlii: 22

ES Model No Internaml cfj?ameter Outerfili\jl%neter L:?Eth Lﬁfm ES ModelNo |nternap? giiéametel’ Outerz]i\;%neter Lfr{;gth LJeL/?E{th
LMF...LUU B:ﬁzlijijzun W(;ii;q%(g) el To|§a§nce| & Tolgaﬁncel . Tolgaﬁncel 2 Tolga%ncel LMK...LUU Biﬁili]riiuit We:ii;;%((g) o Tolgaﬁncel D Tolgaﬁncel L Tolgfncel D1 Tolcﬁa%ncel
L} ’\‘ / LMF6LUU 4 32 6 12| o 35 28 LMK6LUU 4 26 6 12| 35 28
LMF8LUU 4 53 | 8 15 | 700N 45 32 LMKSLUU | 4 46 | 8 15 | 0013 | 45 32
- LMF10LUU| 4 105 | 10| 19 55 40 LMK10LUU| 4 88 | 10 19 55 40
(3 ) o LMF12LUU| 4 100 [ 12 | 70009 J 21| 57| 9, 42| LMK12LUU| 4 82 | 12| 9., |2 0 L5 04 |42 .
LMF13LUU| 4 130 | 13 23 | -0.013 | 61 43| -02 LMK13LUU| 4 108 | 13 23 | 61 43| oo
LMF16LUU| 5 187 | 16 28 70 48 LMK16LUU| 5 160 | 16 28 70 48
LMF20LUU| 5 260 | 20 32 80 54 LMK20LuU| 5 230 | 20 32 80 54
LMF25LUU| 6 515 | 25 | 9410 | 40 Sote [ 112 62 LMK25LUU| 6 475 | 25 | 9012 | 40 | ote | 112 62
N LMF30LUU| 6 655 | 30 45 123 74 = LMK30LUU| 6 575 | 30 45 123 74
LMF35LUU[ 6 970 | 35 52 135 82 LMK35LUU| 6 870 | 35 52 135| o 82
LMF40LUU| 6 1560 | 40 | 0012 | 60 | Qo1 | 154] 03 |6 Fﬁl LMK40LUU| 6 1380 | 40 | 9015 | 60 900 |154] % [oe
LMF50LUU[ 6 3500 | 50 80 192 16| s LMK50LUU| 6 3300 | 50 80 192 16| o
LMF60LUU| 6 4500 | 60 | D0p0 | 90 | Boo | 211 134| 03 LMK6OLUU| 6 4060 | 60 | 9,0 | 90 | 9405 | 211 134| 03
g
. 2 s N i Z[SI7E] A ;2R
Type H -G, agiig?xint toleranc”en?fﬂange (r:]?nx) ?:)?:rr::g: CN CoN Type ag?%?xehnt oeranc;nc]) ange . ?LT:::CC: oN CoN
LMF6LUU | 5 | 20 | 3.4x6.5x33 15 15 5 324 | 520 LMK6LUU | 22 | 5| 20 | 3.4x6.5x3.3 15 15 -5 324 | 529
LMFSLUU | 5 | 22 | 3.4x65x33 15 15 5 231 | 784 - LMK8LUU | 25 | 5| 24 | 3.4x6.5x3.3 15 15 -5 431 | 784
LMF10LUU| 6 | 29 |4.5x8x4.4x15 15 15 5 588 | 1100 ' LMK10LUU| 30 | 6 | 29 | 4.5x8x4.4 15 15 S 588 | 1100
LMF12LU0] 6 | 32 | 45x8xda 15 e 5 657 | 1200 LMK12LUU| 32 | 6 | 32 | 4.5x8x4.4 15 15 -5 657 | 1200
LMF13LU0] 6 | 33 | 45x8xaa 15 15 = 314 | 1570 LMK13LUU| 34 | 6 | 33 | 4.5x8x4.4 15 15 -7 814 | 1570
LMF16LUL| 6 | 38 | 45x8xda 15 15 7 1230 | 2350 LMK16LUU| 37 | 6 | 38 | 4.5x8x4.4 15 15 -7 1230 | 2350
LMF20LUU] 8 | 23 | 5.5x955.4 20 20 P 1200 | 2750 LMK20LUU| 42 | 8 | 43 | 5.5x9.5x5.4 20 20 -9 1400 | 2750
LMF25L00] 8 | 51 | 5.5x9.55.4 20 20 P 1560 | 3140 LMK25LUU| 50 | 8 | 51 | 5.5x9.5x5.4 20 20 -9 1560 | 3140
LMF30LUU| 10| 60 | 6.6x11x6.5 20 20 P 2490 | 5490 LMK30LUU| 58 | 10| 60 | 6.6x11x6.5 20 20 -9 2490 | 5490
LMF35L0U| 101 67 | 6.6x11x6.5 25 25 13 2650 | 6270 LMK35LUU| 64 | 10| 67 | 6.6x11x6.5 25 25 -13 2650 | 6270
LMF40LUU| 13| 78 | 9x14x6.6 Py Py 13 3430 | 800 LMK40LUU| 75 | 13| 78 | 9x14x8.6 25 25 -13 3430 | 8040
LMF50LUL| 13| 98 | ox12x3.6 25 25 13 5080 | 15900 LMK50LUU| 92 | 13| 98 | 9x14x8.6 25 25 -13 6080 | 15900
LMF8OLUL| 18| 112 | 11x17 5x10.8 25 25 13 ~650 | 20000 LMK60LUU| 106 | 18| 112 |11x17.5x10.8 25 25 -13 7650 | 20000

11 12



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

E=HEZMARRT E=HEZWMERRS

Flange linear bearing series Flange linear bearing series
Sl UNIT. 1N=0.102kgf H{I: mm Sl UNIT. 1N=0.102kgf H{I: mm
LMHUU EFRENAL: 1N=0. 102kgf Unit: mm LMHLUU EIFREAI: 1N=0. 102kgf Unit: mm
= A& MR KE KE e HE N KE KE
2SS Model No Internal diameter [ Outerdiameter Length Length wl H 2S  Model No Internal diameter [ Outerdiameter Length Length wlmn
IR5IE B8 NE NE NE NE BRGS0 £ NE NE NE NE
LMH...UU Ball circuit | Weight(g) & Tolerancel D Tolerancel L Tolerancel D Tolerancel e — Ball circuit | Weight(g) . Tolerancel D Tolerancel L Tolerancel D1 Tolerancel
LMH6UU 4 21 6 12| ¢ 19 28 18| 5 LMH6LUU 4 27 6 12| ¢ 35 28 18| 5
LMH8UU 4 33 | 8 15 | 0011 [ 24 32 21| 5 LMHSLUU| 4 46 | 8 15 | 0013 | 45 32 21| 5
LMH10UU 4 64 10| 19 29 40 25| 6 LMH10LUU 4 91 10| 19 55 40 25| 6
LMH12UU 4 68 | 12 | 70009 | 21 o 30 _%2 21 27| 6 LMH12LUY| 4 92 |12 | 0010 | 21 0 57 _% 5 122 o 27| 6
LMH13UU 4 81 13 23 | -0.013 | 32 43| -02 |29 6 LMH13LUU 4 117 | 13 23 | -0.016 | 61 43| 02 |20 &
LMH16UU 5 112 | 16 28 37 48 34| 6 LMH16LUU 5 165 | 16 28 70 48 34| 6
LMH20UU 5 167 | 20 32 42 54 38| 8 LMH20LUU 5 247 | 20 32 80 54 38| 8
0 0
LMH25UU 6 325 | 25 _%_010 40 | —go016 | 59| o 62 46| 8 LMH25LUU 6 500 | 25 _%_012 40 | —go19 | 112] o 62 46 | 8
LMH30UU 6 388 | 30 45 64| 03 |74 51 | 10 LMH30LUU| 6 583 | 30 45 123| 04 |74 51| 10
‘ | i BRIETL EEMAELNE | RUE | BEERAE EARHE BEiETL EEMAEAE | RLE ERERAZ EARHE
A= A F Hole for Amgular radial | Eccentricity Radlal Basic load rating RS A F Hole for Amgular radial | Eccentricity Radlal Basic load rating
- Type attachment |tolerance of flange|  (max) clearance CN CoN Type attachment [tolerance of flange|  (max) clearance CN CoN
yr d1xd2xh um um tolerance d1xd2xh um um tolerance
LMH6UU | 20| - | 3.4x6.5x3.3 12 12 -5 21 27 LMH6LUU | 20| - 3.4x6.5x3.3 15 15 -5 33 54
LMHSUU | 24| - | 3.4x6.5x3.3 12 12 -5 27 41 LMHSLUU | 24| - 3.4x6.5x3.3 15 15 -5 44 80
LMH10UU | 29| - 4.5x8x4.4 12 12 -5 38 56 LMH10LUU| 29 | - 4.5x8x4.4 15 15 -5 60 12
LMH12UU | 32| - 4.5x8x4.4 12 12 -5 42 61 LMH12LUU| 32| - 4.5x8x4.4 15 15 -5 67 122
LMH13UU | 33| - 4.5x8X4.4 12 12 -7 52 79 LMH13LUU| 33| - 4.5x8X4.4 15 15 -7 83 160
LMH16UU | 31| 22 4.5x8x4.4 12 12 7 79 120 LMH16LUU| 31| 22 4.5x8x4.4 15 15 -7 125 | 240
LMH20UU | 36 | 24 | 5.5x9.5x5.4 15 15 9 88 140 LMH20LUU| 36 | 24 | 5.5x9.5x5.4 20 20 -9 143 | 280
LMH25UU | 40| 32 | 5.5x9.5x5.4 15 15 -9 100 | 160 LMH25LUU| 40 | 32 | 5.5x9.5x5.4 20 20 -9 159 | 320
LMH30UU | 49| 35 | 6.6x11x6.5 15 15 -9 160 | 280 LMH30LUU| 49| 35 | 6.6x11x6.5 20 20 -9 254 | 560
L il
ol =
oy | §° o
o) = a a S Rl e e o
i
1
| i i
8 L |
i :
_sl B W W H
- L . r ] L
LMH1 3B LMH1GRESE/N LMH13a8 /)1 LMH16ZZ& /M '

13 14



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

HEZ&R3NHETHRERS] HZ w3 8T iERERS

Linear sliding unit sliding block series Linear sliding unit sliding block series

o

-

o=

SCS...UU SBR...UU

FER~FDimensions(mm) Be&E%&E%& Slide bush _ FZ R <FDimensions(mm) Bl EZE% Slide bush _
%‘i . Re Ratings ioad WeI?ht %i R Ratinge iond Welfht
nlE|wlL|Flele|c|k|sts2|u| L% [Ganlmas] 0 hlEflwlL]|elmle|Blc|s |ulT| {3 Heaimes o
CN Co N CN Co N
scs6uu| 6 | 9 |15 (30| 25] 18| 15[ 20| 15] 5 [ma[3a| 8 | LmMeuU | 206 | 265 | 34 sBR1ouU| 15 | 18 [ 36 [ 32|24 | 6 [80°] 25 [ 20 [ m5| 10 | 7 [Lmiouvor| 372 | 549 | 65
scssuu | 6 | 11|17 [34 [ 30| 22| 18|24 | 18] 5 [ma ]3| 8 | Lmsuu | 274 [ 392 | 52 sBR13UU| 17 | 20 | 40 | 39 [27.6] 85 80°| 28 | 28 | m5| 10 | 8 [Lwisuor| 510 | 784 [ 100
scstouu| 8 [13[20 [40 [ 35] 26] 21|28 |21 | 6 [m5[43] 12|Lmiouu]| 372 | 549 | 92 sBR16UU| 20 | 225 45 | 45 [ 33 [ 10 [80°| 32| 30| ms5| 12 | o [Lmeuor| 774 [ 1180 [ 150
scs12uu| 8 |15 |21 |42 | 36 | 28| 24 [30.5] 26 [5.75 M5 [ 4.3 | 12 [Lm12uu]| 510 | 784 [ 102 sBR20UU| 23 | 24 [ 48 | 50 [ 39 | 10 [60°| 35 | 35 | me | 12 | 11 | Lmouv-or| 882 [ 1370 [ 200
scs13uu| 8 |15 |22 |44 | 30 | 30245 33 [ 26 |55 [m5 |43 | 12 [Lm13uu]| 510 | 784 [ 120 sBR25UU| 27 | 30 | 60 | 65 | 47 [11.5] 50° | 40 | 40 | me | 12 | 14 |Lmsuu-or| 980 [ 1570 [ 450
scs16uU| 9 |19 |25 |50 | 44 |38.5\32.5| 36 [ 34 | 7 [wm5 |43 ] 12 [Lm1suu]| 774 [ 1180 | 200 sBR30UU| 33 | 35|70 [ 70 [ 56 | 14 | 50°| 50 | 50 | ma | 18 | 15 | Lmsouw-or| 1570 [ 2740 [ 630
scs20uu| 11 [ 21 [ 27 [54 [ 50| 41| 35|40 [ 40| 7 [me|5.2] 12| Lm20uu| 882 [1370 [ 255 SBR35uU| 37 | 40|80 | 80 | 63 | 16 | 50°| 55 | 55 | M8 | 18 | 18 | LM3suu-op| 1670 3140 | 925
scs25uu| 12 [ 26 |38 |76 | 67 |51.5 42| 54 [ 50 | 11 [m8| 7 | 18 [Lm250u] 980 [ 1570 [ 600 sBR4ouU| 42 | 45| 90 [ 90 | 72 [ 19 [ 50° | 65 | 65 [m10] 20 | 20 | Lmaout-or| 2160 [ 4020 [1330
scs3ouu| 15 [ 30 [ 30 [ 78 | 72 [59.5] 49| 58 [ 58 | 10 [m8| 7 | 18| Lm3ouu| 1570 [ 2740 [ 735 sBR50UU| 53 | 60 [120 | 110] 92 | 23 [ 50° | 94 | 80 [m10] 20 | 25 | Lmsouv-or| 3820 [ 7940 [3000
scs3suu| 18 [ 34 |45 [0 [ 80| 68| 54| 70 [ 60 | 10 [m8| 7 | 18 |Lm3suu| 1670 [ 3140 [1100
scsaouu| 20 | 40 | 51 [102| 90 | 78] 62| 80 [ 60 | 11 [m10[8.7 | 25 [Lm4ouu | 2160 | 4020 [1590
scssouu| 25 | 52 | 61 |122 | 110] 102] 80 [100] 80 | 11 [m10[8.7 | 25 [Lms0UU | 3820 | 7940 [3340 SBR...LUU
scseouu| 30 | 58 | 66 |132 | 122] 114] 94 [108] 90 | 12 [m10[10.7] 25 [ LmeoUU | 4700 [10000 [4270 ; ;
FZERfDimensions(mm) EAE%HME Sldebush | __
L FE L fe
SCS...LUU wee fhlE|w|L|elm|elB|c|s|u|T| 3 D?Jz%"qsg%z i
ahis| S
e £ e R I ) RAERHR gﬁi‘ﬁ;‘sr‘ a5 SBR16LUU | 20 | 225 45 | 85 [ 33 [ 10 [ 80°| 32 | 60 [ ms5| 12 | o [imisLuu-or| 1548|2360 | 300
e | vl lelw| i|F|els|c|k|st|s|u| 25 Dﬁ;a;nqsg%dﬁ o SBR20LUU | 23 | 24 | 48 | 96 | 39 | 10 | 60°| 35 | 70 [ me | 12 | 11 [tm2oLuu-or| 1764 [ 2740 | 400
e | S SBR25LUU | 27 | 30 | 60 | 130] 47 [11.5] 50° | 40 | 100 M6 | 12 | 14 |m2sLuu-or| 1960 [ 3140 | 900
SCSBLUU 1|17 |34 [ 58] 22| 18] 24 [ 42| 5 | M4 |34 ]| 8 | LmeLuu | 274 | 302 | o4 SBR30LUU | 33 | 35| 70 [140] 56 | 14 | 50°| 50 | 110 M8 | 18 | 15 |LmsoLuu-op| 2140 [ 5480 [1260
SCS10LUU 13|20 |40 | 68| 26| 21| 28| 45| 6 | Mm5[43| 12 [LmioLuu| 372 | 549 [ 147 SBR4OLUU | 42 | 45| 90 [175] 72 | 19 | 50° | 65 | 180[m10] 20 | 20 [LmaoLuu-op| 4320 [ 8040 |2660

6

8
SCS12LUU| 8 | 15|21 |42 | 70| 28 | 24 (30.5| 50 [5.75| M5 (4.3 | 12 [LM12LUU| 510 | 784 | 220
SCS13LUU| 8 | 15|22 |44 | 75| 30 |24.5( 33 | 50 55| M5 (4.3 | 12 [LM13LUU| 510 | 784 | 245
SCS16LUU| 9 | 19 | 25 | 50 | 85 |38.5/32.5( 36 | 60 [ 7 | M5(4.3 | 12 [LM16LUU| 774 | 1180 | 376
SCS20LUU|( 11 (21 |27 |54 | 96| 41| 35|40 (70| 7 |M6|5.2| 12 |LM20LUU| 882 | 1370 | 476
SCS25LUU| 12 | 26 | 38 | 76 | 130|51.5| 42| 54 |100( 11 | M8 | 7 | 18 [LM25LUU| 980 | 1570 |1115
SCS30LUU| 15| 30 | 39 | 78 | 140|59.5| 49| 58 |110( 10 | M8 | 7 | 18 [LM30LUU| 1570 | 2740 |1375
SCS35LUU| 18 | 34 | 45 | 90 | 165| 68 | 54 | 70 | 120 10 | M8 | 7 | 18 [LM35LUU| 1670 | 3140 |2200
SCS40LUU | 20 | 40 | 51 |102|175]| 78 | 62| 80 |140( 11 |M10(8.7 | 25 [LM40LUU| 2160 | 4020 |3200
SCS50LUU | 25 | 52 | 61 |122]|215]|102| 80 [100|160( 11 |M10(8.7 | 25 [LM50LUU| 3820 | 7940 |6720
SCS60LUU | 30 | 58 | 66 |132|240| 114| 94 [ 108|180 12 |M12({10.7| 25 [LM60LUU| 4700 [10000 |8480

15 16



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

H % i7" 31 55T i 3 2 51l HEZBNPTIRRS

Linear sliding unit sliding block series Linear sliding elements support series

TBR...UU SHF

Behm ET— . —
. s&R~F | Ratings load EE R Dimensions(mm) BARSHR| iEht me iz FZER<FDimensions(mm) gumigre| REER &
Type onstt (o BoEml Lo | Al m|s1| o] k| e|n| Siebush | Type | panant Locking | Clamping | - Weight
Dimensiond ynca';nlc A (g) Diameter W L T F G B S Bolt Bolt (kg)
¢ TBR16UU | o016 | 392 | 490 |62]26| 8 |42 |m5|50|30] 31|18 |Lmisuu-op| 180 SHF8 8 43|10 5 124120 | 32155 M4 M5 | 0.013
SHF10 10 43| 10| 5 |24 | 20| 32| 55| M4 M5 0.013
TBR20UU | 20 | 784 | 1176 |68|31|10 |51 |M6|54 |37 | 34| 21 [LM20uU-0OP| 300
< SHF12 12 47| 13| 7 |28 | 25 | 36| 55| M4 M5 0.02
TBR25UU | 925 | 1568 |2352 | 82|41 |12 |65 |M8|65 |50 | 41| 28 [LM25UU-0P| 600 SHF13 13 47| 13| 7 |28 | 25 | 36| 55| M4 M5 0.02
SHF16 16 50| 16| 8 |31 |28 | 40| 55| m4 M5 0.027
TBR30UU | ¢30 | 1764 | 2940 | 91|48 |12 | 75 |Mm8| 75 | 60 |45.533.5{LM30UU-OP| 900
SHF20 | 20 60| 20| 8 |37 |34 | 48] 7| w5 M6 0.04
B G SHF25 | 25 70| 25| 10|42 |40 | 56| 7| ™5 M6 0.06
HE 5iii TBR...LUU SHF30 30 80| 30| 12|50 |46 | 64| 9| M6 M8 0.11
Earm R L
L K02 HED FZER~FDimensions(mm)
S M= ihE R <t Ratings load : i
L M 3 Ao L e RE HEHR [— SHF35 35 92| 35| 14 |58 |50 | 72| 12| w8 M10 0.38
ype Dimensiong Pvhamic Séitc’:‘c WG| A[M|S1| J| K| E|H i
. )~ SHF40 | 40 102| 40| 16 | 67 | 56 | 80 | 12 | m10 M10 0.51
IRk T TBR16LUU| ¢ 16 780 | 980 |62|26| 8 |85|M5|50 (30 | 31|18 | LM16LUU-OP ! o
= 7] & SHF50 50 122| 50 | 19 | 83 | 70 | 96 | 14 | Mm12 M12 0.89
I yi== o
I g 7T
R 3 TBR20LUU| ¢20 | 1568 |2352 |68 |31 |10 |96 |M6|54 |37 |34 | 21 | LM20LUU-OP y SHF60 | 60 140| 60 | 23 | 95 | 82 | 12| 14 | Mm12 M12 15
= i i =
451 TBR25LUU| ¢25 | 3136 | 4704 |82 |41 |12 |130|M8| 65|50 | 41 | 28 | LM25LUU-OP

TBR30LUU| 30 3528 | 5880 | 91|48 |12 |140|M8| 75 [ 60 [45.5(33.5| LM30LUU-OP

17 18



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

HEZRNPITIRRS HEZRNPILIRRS

Linear sliding elements support series Linear sliding elements support series

SK SBR

EE HE FERfDimensions(mm) Yo iz FERfDimensions(mm) =
Tyme Shaft %’5 Shaft = Weight
Diameter h E w L F G P YP® | Diameter| E [H [B| H |T| F [ X | Y |C| ST| gixumxq | kam)
SK8 8 20 21 42 14 32.8 6 18 SBR16| ¢16 | 20 |25|40|17.8| 5|18.5| 8 [11.7[30]| ¢5.5 5.5x9.5x5.4 | 1
SK10 10 20 21 42 14 32.8 6 18
SBR20| 020 [2255|27|45|17.7| 5| 19| 8 | 10|30| ¢5.5 5.5x9.5x5.4 | 1.07
SK12 12 23 21 42 14 375 6 20
SK16 16 27 24 48 16 44 8 25 SBR30| 30 30 |37 |60 [22.8] 7 |26.5/10.3] 13 |40| ¢ 6.6| 6.6x11x6.5 | 1.9
SK20 20 31 30 60 20 51 10 30
SBR35| ¢35 |[32.5|43|65(26.5| 8| 28 | 13[15.5(45| 9| 9x14x86 | 2.45
SK25 25 35 35 70 24 60 12 38 £
SK30 30 42 42 84 28 70 12 44 X SBR40| 40 |37.5|48|75|295| 9| 38 |15.5] 17 |55| 9| 9x14x8.6 | 3.25
SK35 35 50 49 98 32 92 15 50 i G’ < SBR50 | ¢50 |47.5(62|95(38.8[ 11| 45 [ 20|21 (70| ¢ 11|11x17.5x10.8 | 5.26
| A
SK40 40 60 57 14 36 96 15 60 == Il A
i s i
SK50 50 70 63 126 40 120 18 74 H TI7 B
b A —s 1 . . . .
K60 0 %0 72 128 e 136 18 % £ e L > S X tREKEFIR ST Standard length and dimension of guide rail
| F .
| F o e ROl BAKE
(o E %p?e Standard Length N P Mgaix,Length
| L L
|
s B R <fDimensions(mm) — —_— & SBR16 190 340 640 940 20 150 1390
Ty;)z Locking Clamping Weight i
B S Bolt Bolt (@) Y SBR20 | 340 640 940 1240 20 150 1390
SK8 32 55 M4 M5 24 1T
T | SBR25 250 450 850 1250 25 200 1850
: SK10 32 5.5 M4 M5 24 =
: BEEAEEETET
. | . SK12 - o5 v e 0 : - SBR30 450 850 1250 1450 25 200 1850
Pl =N
‘ SK13 32 5.5 M4 M5 30 . SBR35 460 660 860 1060 30 200 1860
L
SK16 38 5.5 M4 M5 40
SBR40 | 460 660 860 | 1060 | 1260 30 200 1860
SK20 45 6.6 M5 M6 70
47 7 7 107 127 2 207
SK25 - 56 e Ve 130 SBR50 0 670 870 070 0 35 00 070
SK30 64 9 M6 M8 180
SK35 74 1 M8 M10 270
SK40 90 11 M8 M10 420
SK50 100 14 M12 M12 750
SK60 120 14 M12 M12 1100

19 20



(C] (C]

Shandong W&M Bearing Co., Ltd. Shandong W&M Bearing Co., Ltd.

BELBHETIERRI EHEZSHNEH ARSI
Linear sliding elements support series Cylinder Straight Line Guide (Optical axis) Series

FROERS: #4538 Standard S: chrome plated

FEMi® The main purpose

BELMAEMEMEE LG ZER, B UNEA. BFHERIN.
WEH. BEITEN., S$%RSEE. BB ANFTLEHNE. B
FMETENRE, TAEKERBENFINERES®.

LM Shaftis widely used in the automatic transmission device, such as
industrial robot, automatic recording, computer, precision printer, special

E TBR cylinder rod, automatic wood machine and other industrial automatic
. +Di ; = machines. At the same time, because of its hardness, it can also extend
! Tﬁ!% éﬁ:‘;t == RS e o) Wei?ht the service life of ordinary precision instruments.
Y i E | H B H|T]| F C | $1 S2
- & Diameter (kg/m)
4 T f TBR16| 16 | 25 [22.14] 50 |14.96| 6 [18.71] 37 |055| 5.5x9.5x5.4| 2.58 G ##}: 45# STEEL, GCr15. SUS440C Materials: 45# STEEL, GCr15, SUS440C
T . 7 ' NIl 155/ TR : HRC62:2(SUS440C: HRC58) Hardness: HRC62+2(SUS440C: HRC58)
1' ) ST TBR20 | ¢20 [27.5(29.01| 55 |19.37| 8 |18.96| 40 |$5.5| 5.5x9.5x5.4 | 4.27 B [ SRR S &? ,,,,,,,,,,, 1 a BE: ¢6 Accuracy: g6
\“‘QQJK fAREE: T#Bi1.5um (Rmax) Roughness: less than 1.5 micron (Rmax)
l._F TBR25 ¢25 |32.5(31.97| 65 |20.14|10 | 20 | 45 |$6.6| 6.6x11x6.5 | 5.90 L B, 0.8~0.3mm Hard bet: 0.8 ~ 0.3 mm
c nS2 B T
B TBR30 ©30 |37.536.52| 75 |20.45| 12 [22.96| 55 |©6.6| 6.6x11x6.5 | 8.35 Mz 3~120(GCr15)  3~40(SUS440C) Outer diameter: 3~120(GCr15) 3~40 (SUS440C)
FRKE: 100mm~3010mm (6000mm s available) Class length: 100mm~3010mm (6000mm is available)
r EE: 100mmA@E5um Straightness: 100mm less than 5 microns
2
= g: Fiid3.0um(Rma Roundness: up to 3.0 micron (Rma
di SN XirERENMRS Standard length and dimension of guide rail BE: A3 Oum(Rmay) ! WP foron (Rmax)
T ! =
il ) = RIEKE BRAKE B HHE — o 1o ‘
ooh %‘,:e Standard L:ngth N P Max.Lengxth 5 B Type | "o R Standard Length (mm) ﬁ%gﬁ g
2 OEIEE - L L iameter is | Weight
N P ‘ N (mm) |AS| S g6 {100(200{300{400(500{600 700 [800|900 {1000 {1200|1500| 1800{2000|2500{3000{3500 |4000| 5000|6000 ta;:: }:Zm (kg/m)
o TBR16 190 240 640 940 20 150 4000
e 3 | 3 [ S3 |-2~-8 T 0.06
TBR20 | 340 640 940 1240 20 150 4000 ¢4 | 4 |54 Noless | 0.10
®5 | 5 | S5 |-4~-12 ‘:‘a” 0.15
TBR25 250 450 850 1250 25 200 4000 6 | 6 | S6 ’ 0.23
¢8 | 8 | S8 0.40
TBR30 450 850 1250 -5~-14 Rob>
1450 25 200 4000 ®10 [ 10 | s10 J;:::s 0.62
®12 |12 [ S12 than | (.89
$13 | 13 | S13 | -6~-17 "% [ oa
®16 | 16 | S16 F4F| 1.58
©20 | 20 [s20 Nolessl 2.47
®25 |25 [S25 |-7~-20 1.5 | 3.85
® 30 |30 [S30 | 5.55
$35 |35 S35 han | 7,55
$40 |40 | S40 |-9~-25 “hd| 9.87
50 |50 | S50 2% | 154
¢ 60 | 60 |S60 10~-29 222
¢80 |80 [S80 S’f’f 39.5
O less
¢ 100|100 (S100 12~-34 than | 617
¢ 120(120(S120 3.0 ] 88.8
¢ 150 (150 [S150}-14~-39 139.0

A HURENT AATREE AR KE.
NOTE: I This color can be supplied by our company with various specifications of length.

21 22



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

[a) 1 3K 73 fh AR 22 51 [a) /s K 73 2K 2R 5

Radial Spherical Plain Bearings Series Radial Spherical Plain Bearings Series
-SNE B — it e ~9h 5 — e 4
~ESE! M EFI B 058 i R L -ESE P B B 058 R 7L
~2RSESNEBE B E ~2RSEISNE B E 4 B B
IS E R E R AL IE -PISNERE AL IR

—Outer ring with single split in axial direction

-Lubricating grooves and holes in the outer and inner rings of type ES
—Outer ring of type-2RS with lip seals in both side

—-Both outer and inner rings are properly phosphate treated

—-Outer ring with single split in axial direction

-Lubricating grooves and holes in the outer and inner rings of type ES
—-Outer ring of type-2RS with lip seals in both side

-Both outer and inner rings are properly phosphate treated

GE...E GEG...E
GE...ES-2RS GEG...ES-2RS

e FZE R ~FDimensions (mm) ﬁ?ﬁfLo(?(g)ratings 3 ' e +ZR ~fDimensions (mm) ﬁﬁLo(ak?])ratings .
Tvpe a | o] 8] c|on|Re|re] ol | B |G Type Ris | Res | 40| @ | B | GO

min | min Dyn. C [ Stat. Co d D B C Dk | min | min a Dyn. C | Stat. Co g
GE4E 4| 12] 5 | 3] 6 030316 2 10 |0.0033 GEG6E 6 | 16| 9 | 5| 13|03|03 |21 | 55 | 275 |o0008
GESE S| M) 6] 4] 703103 13 34 ) 17 |00038 GEGSE 8 | 19| 1| 6| 16| 03|03 |20 | 815 | 405 |0014
GEGE 6 || 6] 4] 10]03]03 13| 34 17 | 0.004 GEG10E 10| 2] 12| 7] 1803|0318 108/ 54 |o002
GESE 8 | | 8 | 5] 183]03]03 |15 ] 55 | 275 |0.007 GEG12E 1226 15| 9| 22 03|03 |18] 17 85 | 0.034
GE10E 10 19| 9| 6| 16|03] 03| 12| 815 | 205 [o001 GEG15ES | GEG15ES2RS | 15 | 30 | 16 | 10 | 25 | 03| 03 | 16 | 21.2 | 106 | 0.046
| GE12E 12 22| 10| 7| 1803|031 | 108]| 58 [0016 | GEG17ES | GEG17ES2RS | 17 | 35| 20 | 12| 29 [ 03| 03 | 19 | 30 | 146 |0.078
b R:s s | GE15ES | GE1SESZRS | 15 | 26 | 12 | 9 | 22 | 03|03 | 8 | 17 | 8 |00 B3 RZ;S LES | GEG20ES|GEG20ES2RS | 20 | 42 | 25 | 16 | 355| 06 | 06 | 17 | 48 | 240 | 015
T | GE16ES | GE16ES2RS | 16 | 30 | 14 | 10 | 25 | 03| 03 | 10 | 212 | 106 | 0.041 Y | GEG25ES | cEozsEs2rs | 25 | 47 | 28 | 18 | 207 | 06 | 06 | 17 | 62 | 310 | oo
o _____! & 1 GE17ES | GE17ES2RS | 17 | 30 | 14 | 10| 25 | 03| 03 | 10 | 212 | 106 | 0.041 ol _____! =1 GEG30ES | cEGaoEs2rs | 30 | 55 | 32 | 20| 47 o6 | 1+ | 17 | s | 400 | o2
e < GE20ES | GE20ES2RS | 20 | 35 | 16 | 12| 29 | 06 | 03 | 9 | 30 | 146 | 0.061 | ot . GEG35ES | crcasesars | 3 | 62 | 3 | 22| 53 |06 | 1 | 16 | 100 | 500 | 029
1 : - GE25ES | GE25ES2RS | 25 | 42 | 20 | 16 | 355| 06 | 06 | 7 | 48 | 240 | 0.11 ' VA cooms | GEG40ES | GEGaEszRs | 40 | 68 | 40 | 25 | w0 |06 | 1 | 7 | w1 | w0 | os2
GE30ES | GE30ES2RS | 30 | 47 | 22 | 18 | 407| 06 | 06 | 6 | 62 | 310 | 0.14 : GEGHSES | cEaasEs RS | 45 | 75 | 43 | 28 | o6 |06 | 1 | 15 | 166 | 760 | oee
;1 GE35ES | GE35ES2RS | 35 | 55 | 25 | 20| 47 | 06| 1 | 6 | 8 | 400 [ 022 BC | GEGS0ES | cEGaoES RS | 50 | 90 | 56 | 36 | 80 | 06 | 1 | 17 | 246 | 1220 | 140
GE40ES | GE40ES2RS | 40 | 62 | 28 | 22| 53 | 06| 1 | 7 | 100 | 50 | 03 = GEGO0ES | oEGeoEs RS | 00 | 1051 3 | 20 | 92 | 1 | 1 | 17 | a6 | 1560 | 200
GE4SES | GE45ES2RS | 45 | 68 | 32 | 25| 60 | 06 | 1 | 7 | 127 | 640 | 04 GEGTOES | oEaToEs ks | 70 | 1201 70 | @5 | 105 | 1 | 1 | 16 | 400 | 2000 | 290
GES0ES | GES0ES2RS | 50 | 75 | 35 | 28 | 66 | 06| 1 | 6 | 156 | 780 | 054 GEGH0ES | GEGBOES 2RS | 80 | 130 ] 7 | 50 | 15 | 1 | 1 | 1a | 4%0 | 2450 | 350
GEGOES | GEGOES2RS | 60 | 90 | 44 | 36| 80 | 1 | 1 | 6 | 245 | 1220 | 1 GEGO0ES | cEcaoEs2rs | 90 | 10| & | 55 | 10| 1 | 1 | 15 | 610 | 3050 | 540
GETOES | GE70ES2RS | 70 | 105| 49 | 40| a2 | 1 | 1 | 6 | 315 | 1560 | 15 GEG100ES|GEG100Es 2R | 100 | 160 | 85 | 5 | a0 | 1 | 1 | 14 | o | 3200 | 5.9
GESOES | GESOES2RS | 80 | 120 | 55 | 45| 105 | 1 | 1 | & | 400 | 2000 | 22 GEGTOES|cEaT1oEs 2rs | 110 | 180 | 100 | 70 | 160 | 1 1 1 | = | w50 | 470 | 1.0
GE90ES | GE90ES2RS | 90 | 130 | 60 | 50 | 115 1 | 1 | 5 | 490 | 2450 | 27 GEG120ES| GEG120ES 2RS | 120 | 210 115 | 70 | 180 | 1 | 1 | 16 | 1080 | 5400 | 15.0

GE100ES | GE100ES2RS | 100 | 150 | 70 | 55 | 130 | 1 | 1 | 7 | 610 | 3050 | 43

GE110ES | GE110ES2Rs | 110 | 160 | 70 | 55| 140 | 1 | 1 | 6 | 655 | 3250 | 47

GE120ES | GE120ES2RS | 120 | 180 | 85 | 70| 160 | 1 | 1 | 6 | 950 | 4750 | 8

GE140ES | GE140ES2RS | 140 | 210 | 90 | 70| 180 | 1 | 1 | 7 | 1080 | 5400 | 11

GE160ES | GE160ES2RS | 160 | 230 | 105 | 80 | 200 | 1 | 1 | & | 1360 | 6800 | 14

GE180ES | GE180ES2RS | 180 | 260 | 105 | 80 | 200 | 14 | 1.1 | 6 | 1530 | 7650 | 186

GE200ES | GE200ES2RS | 200 | 200 | 130 | 100 | 212 [ 14 | 14 | 7 | 2120 | 10600 | 284

23 24



®
TBAI?handong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

HGRJ HEZ & HGRJ3 HEZX&H

Linear Guideways HG Series

Linear Guideways HG Series Ki
: o B
HORFIELSHR & — { }

§| & &
(1) HGH-CA / HGH-HA @ ® (2) HGL-CA / HGL-HA

1=
1=

.G L
G L
‘ L,
Ly
l.-Mxl\ c | C |
— 22 o o TE; ol Im(
I+ i+
- ‘L“r‘ ‘JFJ\ o J; < R4l
L ‘ e - ) I 1 == ===
e v [
T ! = ) I fi L _
I3 < —— | { [ | [
= | B L R
T i o T i T
|
: P
E P E . E ]
Me My Mg Mp My
m_ ia i =y ia T
) = = me—i= o =H = =H—i=
1 Eo— —
SHE EX EXR o3 = SHE EX EX Py =
4] < . it = BiFEHE BE 4] < . i B NE =
AR SRS (mml SHRTml  EEE W B i SRS (mml SHRT(ml  EER BE B '
(mm]) A (mm) I
ne ‘R ERE EHE ne BR EfRE i
My My My B3R BH Me M, M, B8 BH
N WBGB C L L K 6 M T H H,WoH, D h d P E C(kN) Cy (kN
H H, 1 ] ] X , Hy Wi Hq (mm) CKN) ColkN) kg kg/m HH N WBGB C L L K G Ml T H HWeH D h d P E (mm CKNI ClkN) kg ke/m
HGH15CA 28 43 95 34 26 4 26 394 614 10 53 Mix5 6 795 77 15 15 75 53 45 60 20 Mixlé 1138 25.31 047 015 015 0.18 145 HGL15CA 24 43 95 34 26 4 26 394 614 10 53 Méxé 6 395 37 15 15 75 53 45 60 20 M4x16 11.38 2531 017 0415 015 014 145
HGH 20CA 36 505 775 12.25 1775 3784 038 0.27 0.27 0.30 HGL 25CA 35 58 84 168 2648 5619 064 051 051 0.42
30 46 12 4h 32 6 12 M5x6 8 6 7 2017595 85 6 60 20 M5xls 2.21 36 55 125 48 35 65 12 Méx6 8 6 9 23 22 11 9 7 60 20 M6x20 3.21
HGH 20HA 50 652 922 126 2118 48.84 048 047 047 039 HGL 25HA 50 78.6 1046 19.6 3275 7600 087 088 088 057
HGH 25CA 35 58 84 168 2648 5619 0.64 051 051 0.51 HGL 30CA 40 70 974 2025 3874 83.06 106 085 085 0.78
40 55 125 48 35 65 12 Méx8 8 10 13 23 22 11 9 7 60 20 Méx20 3.21 42 6 16 60 40 10 12 M8x10 85 65 10.8 28 26 14 12 9 80 20 M8x25 447
HGH 25HA 50 78.6 1046 196 3275 7600 087 088 0.88 049 HGL 30HA 60 93 1204 2175 47.27 1013 140 147 147 103
HGH 30CA 40 70 974 2025 3874 83.06 106 0.85 0.85 0.88 HGL 35CA 50 80 1124 20.6 4952 10287 173 120 120 114
45 6 16 60 40 10 12 M8x10 85 95 138 28 26 14 12 9 80 20 M8x25 447 48 75 18 70 50 10 12 M8x12 102 9 126 34 29 14 12 9 80 20 M8x25 6.30
HGH 30HA 60 93 1204 2175 4727 11013 140 147 147 116 HGL 35HA 72 105.8 138.2 22.5 6021 13631 229 208 208 152
HGH 35CA 50 80 112.4 20.6 4952 102.87 173 120 120 1.45 HGL 45CA 60 97 1394 23 77.57 155.93 3.01 2.35 2.35 2.08
5 75 18 70 50 10 12 M8x12 10.2 16 196 34 29 14 12 9 80 20 M8x25 6.30 60 95 205 86 60 13 129 M10x17 16 85 20.5 45 38 20 17 14 105 22.5 M12x35 10.41
HGH 35HA 72 105.8 138.2 22.5 60.21 13631 2.29 208 208 192 HGL 45HA 80 128.8 171.2 289 9454 20712 400 407 407 275
HGH 45CA 60 97 139.4 23 7757 15593 3.01 2.35 235 273 HGL 55CA 75 1177 166.7 27.35 1444 22781 5.66 4.06 406 3.25
70 9.5 205 8 60 13 12.9 M10x17 16 18.5 30.5 45 38 20 17 14 105 22.5 M12x35 10.41 70 13 23.5 100 75 125 129 M12x18 175 12 19 53 44 23 20 16 120 30 M14x45 15.08
HGH 45HA 80 128.8 171.2 289 9454 20712 400 407 407 361 HGL 55HA 95 155.8 204.8 36.4 139.35 30126 7.49 701 7.01 427
HGH 55CA 75 117.7 166.7 27.35 1446 22781 5.66 406 406 417
80 13 235 100 75 125 129 MI2x18 175 22 29 53 44 23 20 16 120 30 M14x45 15.08
HGH 55HA 95 155.8 204.8 36.4 139.35 30126 749 701 701 549
HGH 65CA 70 144.2 200.2 43.1 163.63 324.71 10.02 6.44 6.44 7.00
90 15 315 126 76 25 129 M16x20 25 15 15 63 53 26 22 18 150 35 M16x50 2118
HGH 65HA 120 203.6 259.6 47.8 208.36 45715 145 1102 1112 9.82

7E:1kgf=9.81N

25 26



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

HGER% E&&HN K HGER% HE&&MN K1

Linear Guideways HG Series : - .
y [5) [5) Linear Guideways HG Series o
¢ ¢ o )
G L
L 6 L
C w L,
i L Cc
_ @ [ [N @ i"’L h .
| + = ™
| T T n [N (I =
[ -Cl ‘ ] _l /i ] J‘ o] ! | @ @ 4[
ju | T T T ! m T T
T T It T | T - = n T n T
‘ \ T | = — L=
‘ ) T * T J T ; T
E P E ‘ — T
E P LE
My
Mg Me My
o™ [EE) ™ Mg Me EE
—— T R C—
W ﬁﬂﬁﬂé lr——=le %ﬂﬁﬂ% E,J;,f,:,,,&
ry Y | |
o 3
SHH EX EX T = SHH EFX EX
4 5 . il z BN EE 4 - F Py =
“ﬁ[ﬁﬁ? ARRF (mm) SHRF (mm) Bl 8 HH ﬂ[ﬁ]‘f BRRF (mm) SR (mm) Bew om mm TR R
me BRT Efif ERE : ne BR Eff EfT
Mg M. M, B#H & Mg M, M, BB B4
H H N W BB C L L K 6 M T T H, HL WoH, D h d P E (mm) CIkN] C,(kN) KN-m kN-m kN-m kg kg/m H H NWWBGB C L L K 6 M TT, T, HL HL Wg H; D h d P E (mm) C(kN) C,(kN) KN-m kN-m kN-m kg kg/m
HGW15CA 24 43 16 47 38 45 30 394 614 8 53 M5 6 89 39537 15 15 75 53 45 60 20 Méx16 11.38 2531 017 015 015 0.7 145 HGW15CB 24 43 16 47 38 45 30 394 614 8 53 P45 6 89 695395 37 15 15 75 53 45 60 20 Mé4x16 11.38 2531 0417 015 045 017 1.45
HGW 20CA 50.5 77.5 10.25 17.75 3784 038  0.27 027 0.40 HGW 20CB 50.5 77.5 10.25 1775 3784 038 027 0.27 0.40
30 4.6 215 63 53 5 40 12 M6 8 10 6 7 20 17595 85 6 60 20 MS5x16 221 30 4.6 21563 53 5 40 2 96 8 10 95 6 7 20 17595 856 60 20 M5x16 2.21
HGW 20HA 65.2 92.2 176 2118  48.84  0.48 0.47 0.47 0.52 HGW 20HB 65.2 92.2 176 2118 48.84 048 047 0.47 052
HGW 25CA 58 84 11.8 26.48 5619  0.64 051 051 059 HGW 25CB 58 84 11.8 26.48 5619 0.4 051 051 0.59
36 55 235 70 57 6.5 45 2 M8 8 14 6 9 23 22 11 9 7 60 20 Méx20 321 36 55 23570 57 65 45 2 97 8 14 10 6 9 23 22 11 9 7 60 20 Méx20 3.21
HGW 25HA 78.6 104.6 22.1 3275 76.00 0.87 088 0.88 0.80 HGW 25HB 78.6 104.6 22.1 3275 7600 087 088 088 0.80
HGW 30CA 70 974 1425 38.74 83.06 106 085 085 1.09 HGW 30CB 70 974 14.25 38.74 83.06 106 085 085 1.09
42 6 31 90 72 9 52 12 M1085 16 65 10828 26 14 12 9 80 20 M8x25 4.47 42 6 31 90 72 9 52 12 @9 8516 10 65 10828 26 14 12 9 80 20 M8x25 447
HGW 30HA 93 120.4 25.75 4727 11013 1.40 147 147 144 HGW 30HB 93 120.4 25.75 4727 11013 140 147 147 144
HGW 35CA 80 1124 14.6 4952 10287 173 120 1.20 1.56 HGW 35CB 80  112.4 146 4952 10287 173 120 1.20 156
48 75 33 10082 9 62 12 M1010.1 18 9 126 34 29 14 12 9 80 20 M8x25 6.30 48 75 33 100 82 9 62 12 @9 10118 13 9 12634 29 14 12 9 80 20 M8x25 6.30
HGW 35HA 105.8 138.2 27.5 60.21 13631 229 2.08 2.08 2.06 HGW 35HB 105.8 138.2 27.5 60.21 13631 229 2.08 2.08 2.06
HGW 45CA 97  139.4 13 77.57 15593 3.01 235 235 279 HGW 45CB 97 1394 13 77.57 15593 3.01 235 235 279
60 9.5 375 120 100 10 80 129 M12 151 22 85 20545 38 20 17 14 105 22.5 M12x35 10.41 60 9.5 37.5 120 100 10 80 129011 15122 15 85 20545 38 20 17 14 10522.5 M12x35 10.41
HGW 45HA 128.8 171.2 28.9 9454 20712 4.00 407 4.07 3.69 HGW 45HB 128.8 171.2 28.9 9454 20712 400 4.07 4.07 3.69
HGW 55CA 117.7 166.7 17.35 Mb.4b 22781 566 406 406 452 HGW 55CB 117.7 166.7 17.35 1444 22781 5.66 406 406 452
70 13 435 140 116 12 95 129 M14 175 26512 19 53 44 23 20 16 120 30 M14x45 15.08 70 13 435140 116 12 95 129014 17526517 12 19 53 44 23 20 16 12030 M14x45 15.08
HGW 55HA 155.8 204.8 36.4 139.35 301.26 749 701 701 596 HGW 55HB 155.8 204.8 36.4 139.35 301.26 7.49 701 701 596
HGW 65CA 144.2 200.2 23.1 163.63 32471 10.02 6.44 644 917 HGW 65CB 144.2 200.2 23.1 163.63 32471 10.02 6.44 6.4k 917
90 15 53.5 170 142 14 110 129 M1625 37515 15 63 53 26 22 18 150 35 M16x50 2118 90 15 53.5 170 142 14 110 129016 25 37523 15 15 63 53 26 22 18 15035 M16x50 21.18
HGW 65HA 203.6 259.6 52.8 208.36 45715 1415 1112 1112 12.89 HGW 65HB 203.6 259.6 52.8 208.36 457.15 1415 1112 1112 12.89
F:1kgf=9.81N F:1kgf=9.81N

27 28



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

HGRJ HEZ & 8 EGRJ HZEZ S

Linear Guideways HG Series

o) Linear Guideways EG Series

EC ZIBELSHRT%

(5) HGW-CC / HGW-HC @ @

(1) EGH-SA / EGH-CA K o

'8!
KX

G L
w L, O [cl O |
T
= — "l G L L G_
a ‘ :\7\ I [l \7\: T L L
1 | O C1 1
z:[ | % == [ —ama |
I = o0 L o f
i I I | ~ ~=
x|
/) N L4
M My @d o EGH-CA EGH-SA .
Mg P Y ‘ E
= o™ : ;
Ty dite oH— . "
o o Mg m’n m
m E_ﬂ_]
ol — oo
Sy 25 EF p—— - @ | ,
RERT BHRT (mm) eHRYmm)  EER HE mm IR L = o of]
e BRT ERE EHE

Me My My BB SH

L
H H N W B B C L Kk 6 M T T, T, H HoWeHe D h d P E (mm CIkN) ColkN) o kg kg/m

SHE  EF EX P =
HGW1SCC 24 43 16 47 38 45 30 39.4 614 8 53 M5 6 89 695395 37 15 15 7553 45 60 20 Mix16 1138 2531 017 015 015 017 145 éﬁlﬁﬁl‘f BHRRT (mm) 24 R<(mm) EEER D N FirmnE EE
HGW 20CC 50.5 775 10.25 1775 3784 038 027 027 0.40 B | | e o
30 46 215 63 53 5 40 12 M6 8 10 95 6 7 20 175 95 85 6 60 20 Msxlé 2.21 Mo M, M, RS
HGW 20HC 65.2 922 17.6 2118 4884 048 047 047 052 How N WEB C L L K G MUTHHWHDIGPE [ o GV o oem kNm g kgl
HGW 25CC 58 84 1.8 2648 5619 044 051 051 059
36 55 235 70 57 65 45 12 M8 8 14 10 6 9 23 22 1 9 7 60 20 Méx20 3.21 EGH155A - 231 401 148 535 940 008 004 004 0.9
HGW 25HC 78.6 104.6 221 3275 7600 087 088 088 0.80 2% 45 95 34 26 4 57 Méx6 6 55 6 15125 6 4535 60 20 M3x16 125
EGH15CA 2 398 568 1015 783 1619 013 010 010 0.5
HGW 30cC 70 974 1425 3874 8306 1.06 085 085 1.09
4 6 31 072 9 52 12 M10 85 16 10 65 108 28 26 14 12 9 80 20 M8x25 4.47 EGH20SA - 29 50 1875 723 127 013 006 006 0.5
HGW 30HC 93 120.4 25.75 4727 11013 140 147 147 144 8 6 M 4232 5 12 M5x7 75 6 6 20 1559585 6 60 20 Msxls 2.08
EGH20CA 32 481 691 123 1031 2113 022 016 016 0.2
HGW 35CC 80 1124 146 4952 10287 173 120 120 1.56
48 75 33 10082 9 62 12 MI010.1 18 13 9 126 34 29 14 12 9 80 20 M8x25 6.30 EGH255A - 355 591 219 140 1950 023 012 012 025
HGW 35HC 105.8 138.2 27.5 60.21 13631 229 208 208 206 33 7 125 48 35 65 12 M&x9 8 8 8 23 18 11 9 7 60 20 Méx20 2.67
EGH25CA 35 59 826 1615 1627 3240 038 032 032 04
HGW 45CC 97 1394 13 7757 15593 301 235 235 279
60 95 375 120 100 10 80 129 M12 151 22 15 85 205 45 38 20 17 14 105225 M12x35 10.41 EGH30SA - 45 695 2675 1642 2810 040 021 021 045
HGW 45HC 1288 171.2 28.9 9454 20712 400 407 407 3.69 42 10 16 60 40 10 12 M8x12 9 8 9 28 23 11 9 7 80 20 Méx25 4.35
EGH30CA 40 701 981 21.05 2370 4746 048 055 055 076
HGW 55CC 177 1667 17.35 1444 22781 5.66 406 406 4.52
70 13 435 140 116 12 95 129 M14 175 265 17 12 19 53 44 23 20 16 120 30 M14x45 15.08 T :1kgf=9.81N
HGW 55HC 155.8 204.8 36.4 13935 30126 749 701 7.01 59
HGW 65CC 144.2 200.2 23.1 16363 32671 1002 644 644 9.7
90 15 535 170 142 14 110 129M16 25 375 23 15 15 63 53 26 22 18 150 35 M16x50 2118
HGW 65HC 203.6 259.6 52.8 20836 45715 1415 1112 1112 12.89

E:1kgf=9.81N

29 30



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

HGRJ HEZ & EGRJ HZE S

Linear Guideways HG Series Linear Guideways EG Series

K, K, K4 K4

(2) EGW-SA / EGW-CA O O] 0 O]
— ——— — @ = [3] EGW'SB / EGW'CB — ——— —1 @ ———

G L L G
G L L G W L L
L1 L B, B c
B B c | | \ oM \ 2-M
S— i SN g = o Tof¥ [ei e
Il L + L - | | | | 7 I I I I 7 I I 70
=T i Y —— = = i = Ll T @D HOEL . (e © L Ol
- = I A\ p =1 . L.
"( L! ¥ H HES @D HOL L. L ® =) L OH < ‘ ‘ ‘ ‘ . w
T T T
- o ,, | B
| | £ =] e y
£ T gd ’
od N Wr EGW-CB EGW-SB
N W EGW-CA EGW-SA ! E P E
R E P E
My My
Mg Mp m m
1 o™ N N Nl
I
W =" = [[cF—=— o lB——0o|
R Y | |
I L I - - I L I -
AR ‘ 54 : BV HIE 8 R~ ‘ S BB 58
AR BHRRT (mm SHRY (MM EEER W BE ARy BHRF (mm) 8 R (mm] BEER ZW  BE ’ =
(mm) - o (mm) — -
Ae R~ Eff EHhf A Rt Eff EHhf
Mg M, M, BREZ Me M, M, AR S8
HH NWBSB C L L K G MTT H HWH DhdPE (mm CKkN) CikN) \N-m kN-m kN-m - HH NWBSB C L L K G M TT H H WeH, D h d P E (mm  CKN) ColkN \n_m kN-m KN-m o P
EGW 15SA - 23.1 401 14.8 5.35 9.40 0.08 0.04 0.04 042 EGW 15SB - 23.1 401 14.8 5.35 9.40 0.08 0.04 0.04 042
24 45 185 52 41 5.5 57 M5 5 7 55 6 15 1256 4.5 35 60 20 M3x1é 1.25 24 45 18552 41 55 57 ¢45 5 7 55 6 15 1256 453560 20 M3x16 1.25
EGW 15CA 26 39.8 56.8 10.15 7.83 16.19 0.13 0.10 010 021 EGW 15CB 26 39.8 56.8 10.15 7.83 16.19 0.13 0.10 010 021
EGW 20SA - 29 50 18.75 7.23 12.74 0.13 0.06 0.06 049 EGW 20SB - 29 50 18.75 7.23 12.74 0.13 0.06 0.06 049
28 6 195 59 49 5 12 M6 7 9 6 6 20 15595 856 60 20 M5x16 2.08 28 6 195 59 49 5 12 ¢55 7 9 6 6 20 155 95 85 6 60 20 Mb5x16 2.08
EGW 20CA 32 481 691 123 10.31 2113 0.22 0.16 016 0.32 EGW 20CB 32 481 691 123 10.31 2113 0.22 0.16 016 0.32
EGW 25SA - 35,5 591 219 11.40 19.50 0.23 0.12 012 0.35 EGW 25SB - 35,5 591 219 11.40 19.50 0.23 0.12 012 0.35
33 7 25 73 60 6.5 12 M8 7510 8 8 23 18 11 9 7 60 20 Méx20 2.67 33 7 25 73 60 6.5 12 ¢7 7510 8 8 23 18 11 9 7 60 20 Méx20 2.67
EGW 25CA 35 59 82.6 16.15 16.27 32.40 0.38 0.32 032 0.59 EGW 25CB 35 59 82.6 16.15 16.27 32.40 0.38 0.32 032 0.59
EGW 30SA - 415 695 26.75 16.42 28.10 0.40 0.21 0.21 0.62 EGW 30SB - 415 695 26.75 16.42 28.10 0.40 0.21 0.21 0.62
42 10 31 90 72 9 12 M107 10 8 9 28 23 11 9 7 80 20 Méx25 4.35 42 10 31 90 72 9 12 ¢9 7 10 8 9 2823 11 9 7 80 20 Méx25 4.35
EGW 30CA 40 701 981 21.05 23.70 47.46 0.68 0.55 055 1.04 EGW 30CB 40 701 981 21.05 23.70 47.46 0.68 0.55 0.55 1.04
S :1kgf=9.81N S :1kgf=9.81N

31 32



®
TBAI Shandong W&M Bearing Co., Ltd.

MGZR3% E&L S5

Linear Guideways MG Series

®
TBAI Shandong W&M Bearing Co., Lid.

MG&R3% B4 S

Linear Guideways MG Series

MGN/MGW Z 3 B4 541 R~ 5%

(1) MGN-C / MGN-H

(2) MGW-C / MGW-H

MGW?7, MGW9, MGW12

MGN7, MGN9, MGN12 W L
L L
L+ — C
4-Mx L |
4-Mxl —E N 2D |
_ QD ', ——-'—r— Eg I J "
-~ . L= L
: e T W hE P Yol .
=l 1 1 T I/ er D T
‘ _led_ ‘ ‘ f zd Y
._E | P E | P
MGW15
MGN15
‘G L
w fe L w - -
B B |l —Gn L1 L+
| C B+ ‘ | G,
4-Mxl | £ E— 4-Mxl__| G . C |
22 o I T o ‘ ) i ]
: s s S & {Hr” 1§ - - K ] ;
I _cl [ T T : = — = —— 7 - N e
:E | == I T H i i : I I < v o B \_’// o
| 2 2 i o - SUR
‘ zd ! '
E | P E N Ws
Wr
Mr M, M,
EEA T R M
& & A
7| =N 3
¥ S = B e —
3%
o o i kR
& 9
SHE EX X et = =
BHRT - . o - B HNE R LR S BR EE sy ER
o AR (mm) S#RSmm)  EEER BE  BE AR O R ) ) |
= Rt Efifm =EHE mm R+ =Rl ma
= B B e TE AT e
M M. M, RS Mo M, M, B S8
HHNWEBB CL L G 6 Ml H WiH, D h d P E (mm Clkgfl Colkafl yor.m kgf-m kgf-m g kg/m HH N WBGEB C L L G G M H W W H D h d P E (mm Clkall Colkafl \grm kgiom kaiom g kg/m
MGN7C 8 135 225 100 127 048 029 029 10 MGW T » N 212 o s I
8 15 5 17 12 25 - 012 M2x25 15 7 48 42 23 24 15 5 M2x6 0.22 N o M. T AR AR BN.. 051
MGN 7H 13 218 308 140 200 0.78 0.49 049 15 MGW 7H 19 308 41 180 320 239 158 158 29
MGN9C 0 e 2 G 2600 NECR 075 Rl 16 MGW 9C 21 4512 275 393 280 420 409 193 193 40
0 2 55 20 15 25 - D12 M3 18 9 65 6 35 35 20 75 M3x8 0.38 - B . M. B AN .
MGN 9H 16 e ¥ A A0 1 T 26 MGW 9H 23 3524 385 507 350 600 556 347 347 &7
MEN 12C L 217 [ 20 G 26 BER 4 JRE MGW 12C 15 313 46.1 400 570 717 283 283 71
13 3 75 27 20 35 - D14 M35 25 12 8 6 45 35 25 10 M3x@ 0.65 «H: 8B i....n E.E.D .
MEN 12H ) < R Eer SR MGW 12H 28 456 604 520 840 1047 585 585 103
MEN 15C 2 B 4 g - e aa sl (3 MGW 15C 20 38 548 690 940 2032 578 578 143
16 I 85 25 BN e R 2 10 IR 45 40 R M3x0 il 16 34 9 60 45 75 52 M3 Méxk2 32 42 23 95 8 45 45 40 15 Méx10 2.86
MGN 15H L (10 R e SO B MGW 15H 35 57 738 910 1410 3048 125 125 215
33 34



)
TBAI Shandong W&M Bearing Co., Lid.

FK -l %
FK Fixed Side

4-XB3LeYIEESLIRZ
4-X drill through
oY counter bore depthZ

T

4-XB3LeYEESLIRZ
4-X drill through
oY counter bore depthZ

gd1

#Dgb

BK- &l E
BK Fixed Side

®
TBAI Shandong W&M Bearing Co., Lid.

4-Xi@3,eY EESLIRZ

4-X drill through @Y counter bore depthZ

FK 10~30 B{Z. mm
BARY - mm " EE"%N d1 L L1 | L2 L3 | c1 | c2 B H |6°% | 1% | B1 | H1 E P | D2 X Y z
. ode 0.
" ELJEN d1 L H E E Dg6 A PCD B L1 T X Y z BK 10 10 25 5 29 ) 13 6 60 39 30 22 34 325 15 46 5.5 6.6 |10.8 5]
odae 0.
FK 5 5 165 5 105 | 185 | 20 34 26 26 55 35 34 65 4 BK 12 12 25 5 29 5 13 6 60 43 30 25 34 | 325 18 46 5.5 6.6 [10.8 15
K6 5 20 7 13 22 22 36 28 28 55 35 34 65 4 BK 15 15 27 6 32 6 15 6 70 48 35 28 40 38 18 54 5.5 6.6 | 11 6.5
FK 8 3 23 9 14 2% 28 43 35 35 7 4 34 65 4 BK 17 17 35 9 44 7 19 8 86 64 43 39 50 55 28 68 6.6 9 14 8.5
FK 10 0 122 | 10 [ 17 | 205 | 32 2 | a2 | 22 | 75 s | a5 | s A BK20 | 20 | 35 8 43 8 19 8 88 | 60 | 44 | 34 | 52 [ 50 [ 22 70 | 66 9 | 14 8.5
FK 12 12 27 10 17 | 205 | 36 54 a4 44 75 5 45 8 4 BK 25 25 42 12 54 9 22 10 106 80 53 48 64 70 33 85 9 11 (175 11
FK 15 15 32 15 17 36 40 63 50 5) 10 6 s 95 6 BK 30 30 45 14 61 9 23 11 128 89 64 51 76 78 33 102 11 14 | 20 13
FK 20 20 5) 22 30 50 57 85 70 68 8 10 6.6 11 10 BK 35 35 50 14 67 12 26 12 140 96 70 52 88 79 35 114 11 14 | 20 13
FK 25 25 57 27 30 60 63 98 80 79 13 10 9 15 13 BK 40 40 61 18 76 15 33 14 160 | 110 80 60 100 920 37 130 14 18 | 26 17.5
FK 30 30 62 30 32 61 75 117 95 93 11 12 11 | 175 15
BF- i*#{mu 2-XEI oY TEILEZ
FF |'| * 2-X drill through oY counter bore depthZ
— i*#{ I 4-X B30V NIEILRZ - - .
. ) L 4-X drill through @Y counter bore depthZ BF Fixed Side ‘ l L]
FF Fixed Side ‘ / Ry
b o ol
e e V] & B
__1: 771 I ‘ Py < '_'l"_l__'
dd e e T ol it
| ofe- = \ b | |
- 5 -
el
H|F B, mm
L
L d1 L B H b2 K002 B1 H1 E P D2 X Y z
s Model No.
BARZ : mm
BF 10 8 20 60 39 30 22 34 325 15 46 515 6.6 10.8 5
A1
Model No. | 9T | L H F Dg6 A PCD B X Y z BF 12 10 20 60 43 30 25 34 325 18 46 5.5 6.6 10.8 15
FF 6 6 10 6 4 22 36 28 28 34 6.5 4 BF 15 15 20 70 48 35 28 40 38 18 54 55 6.6 11 6.5
FF 10 8 12 7 5 28 43 35 35 34 6.5 4 BF 17 17 23 86 64 43 39 50 55 28 68 6.6 9 14 8.5
FF 12 10 | 15 7 8 34 52 42 42 45 8 4 BF 20 20 26 88 60 44 34 52 50 22 70 6.6 9 14 8.5
FF 15 15 | 17 9 8 40 63 50 52 5.5 95 | 55 BF 25 25 30 106 80 53 48 64 70 33 85 9 11 17.5 11
FF 20 20 20 11 9 57 85 70 68 6.6 11 6.5 BF 30 30 32 128 89 64 51 76 78 33 102 11 14 20 13
FF 25 25 24 14 10 63 98 80 79 9 14 8.5 BF 35 35 32 140 96 70 52 88 79 35 114 11 14 20 13
FF 30 30 27 18 9 75 117 95 93 11 17.5 11 BF 40 40 37 160 110 80 60 100 90 37 130 14 18 26 17.5
35 36



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

2 Xi@3LoYIMEESLIRZ
2-X drill through @Y counter
bore depthZ

EK-[E] 7 {1
EK Fixed Side

. 03 £ BE & 1 25

Nut a connector

T
T [ : ‘ : T
Vi w A
| ! | ! | ! |
\ b |
I S— -
B
L2 L3
e TpfeE
- A - ”’LT;’E - T
K] -
Cr i
L ‘ 5 ‘ EK 10~20 i
L E=si=a E S \\\ e FETE S
“Eo Rt ‘@ T w Row ‘@*&‘;;-.;”
BEAZ. mm ; \ i
|
'y a1 | L L1 | L2 | L3 | B H [06:002 | (002 | B1 | H1 P X Y z C1 c2 | E i h
Model No. L | =
EK 5 5 16,5 [ 55 | 185 | 3.5 36 21 18 11 20 8 28 4.5 -
EK 6 6 20 5.5 22 3.5 42 25 21 13 18 20 30 55 11
EK 8 8 23 7 26 | 4 [52 | 32| 26 | 17 | 25 | 26 | 38 | 66 12
EK 10 10 24 6 29.5 6 70 43 35 25 36 24 52 -
EK 12 12 24 6 29.5 6 70 43 35 25 36 24 52 -
EK 15 15 25 6 36 5 80 49 40 30 41 25 60 11 - p s b B H h E L c1 c2 p X W v
arcano omun
EK 20 20 42 10 50 10 95 58 | 475 | 30 56 25 75 11 -
1605
16H 28 52 40 20 12 40 8 24 40 M5 38 M5
EF-3Z#
— 2-X3@3Le Y MEESLIRZ .
2 o 2-X B3
i i Eo):edélg tm’gugh oY counter 2-X drill through 1616 1616
EF Fixed Side P 32 | 54 | 38 | 19 8 40 8 24 | 44 | M5 | 42 | M4
o ——1 1616
I
]_'_ -y - - 2005
R R e R T | 20H 36 | 62 | 44 | 22 | 12 | 40 | 8 | 24 | 48 | M6 | 47 | e
*7_'7 [ 711_’»,-!7 *rﬁ T :;;: = : : : ‘ : — 2010
1 [ T ey 1 1 1 [ I =
| HE ! ik 1k 2020
i ! . . — — 2020 39 64 46 23 11 40 8 24 52 [ M6 | 50 | M5
o | F,L*, | | 2020
B P i B |
B
2505
EF6, 8 EF10 ~ 20 25H 40 66 48 24 13 40 8 24 50 M6 51 M6
2510
2525
mm 2525 47 68 56 28 9 40 8 24 50 M6 60 M6
2525
Mo’iﬁlo d1 L B H [ =002 hiet22 B1 H1 P X Z 3205
EF 6 6 12 22 25 1 13 18 20 30 55 1 32H 3210 50 86 62 31 17 40 8 24 66 M8 65 M8
EF 8 6 | 14 52 | 32 26 17 25 26 38 6.6 12 P
EF 10 8 20 70 43 35 25 36 24 52 9 _ 40H 2010 63 100 70 35 19 40 8 24 80 M8 78 M8
EF 12 10 | 20 70 | 43 35 25 36 24 52 9 -
EF 15 15 20 80 49 40 30 41 25 60 9 - 50H 5010 75 116 85 42.5 22 46 10 26 92 M8 93 M8
EF 20 20 26 95 58 47.5 30 56 25 75 11 -

37

38



®
TBAI Shandong W&M Bearing Co., Lid.

3 W 5 3w R T (32 #Fim)—FF.EF.BF
Recommended Shaft End Shape
For Support Unit Types FF and EF and BF ( Floated Side )

)
TBAI Shandong W&M Bearing Co., Lid.

i 3h s R ~F (B E in)—BK.FK.EK
Recommended Shaft End Shape
For Support Unit Type BKand FKand EK

Fixed Side

h7
=
h7

?B
@A

FF&! ( Type FF)

EF& ( Type EF)

s

| FFE! ( Type FF)

BFZ! ( Type BF)

B {7 (Unit): mm

Ball Screw shaft OD

Shaft Support Portion OD

Support Unit model No.

B 5 RER AT MR R ERHIME
S
FFE(Type FF) EFZ(Type EF) BFZ!(Type BF) d A
F E
FF 10 EF 10 BF 10 12/14/15 8
FF 12 EF 12 BF 12 14/15/16 10
Ball Screw Shaft Support
Support Unit model No. shaft OD Portion OD 2 £ (Unit): mm FF15 EF 15 BF 15 18/20 15
= pE 5 A - , R . FF17 - BF 17 20/25 17
B =S 'i;mﬁzgil BhAR RS SN E NEREB L Metric screw thread
- FF 20 EF 20 (BF20)i£NOTE 25/28/30 20
BKZY(Type BK) d A B E F M S FF 25 - BF 25 30/32/36 25
BK 10 12/14/15 10 8 36 15 M10X1 16 FF 30 _ BF 30 36/40 30
BK 12 14/15/16 12 10 36 15 M12X1 14 _ _ BF 35 40/45 35
BK 15 18/20 15 12 40 20 M15X1 12 _ _ BF 40 50 40
BK 17 20/25 17 15 53 23 M17X1 17 ‘.
£ (F)
BK 20 25/28 20 17 53 25 M20X1 15 g %’\ R~F &Ry YRR R"BF20MR~F, ES
FF20REF20M R~ AR, BEMITHEIESBE
BK 25 32/36 25 20 65 30 M25X1.5 18 l B o] MRS RS,
1%
Note:
BK 30 36/40 30 25 72 38 M30X1.5 25 In this table,dimensions in parentheses are those of
+0. type BF20.These dimensions differ from those of
BK 35 45 35 30 81 45 M35X1.5 28 g™ type FF20 and EF20.When placing an order.always
F +g-2 specify the model number of the Support Unit to be
BK 40 50 40 35 93 50 M40X1.5 35 et —— used.
B AL(Unit): mm
. Ball Screw Shaft Support
Support Unit model No. shaft OD Portion OD B I (Unit): mm R34 Snap—ring Groove
Zs
w o= RERLIT . p INFRIE & '
8= i 5N R I 7 SR & AN E NFREB LI Metric screw thread E B F G
FKZ(Type FK)| EKE(Type EK) d A B E F M S 10 7.6 7 0.9
FK6 EK 6 8 6 4 28 8 M6X0.75 8 11 9.6 8 1.15
FK8 EK 8 10/12 8 6 32 9 M8X1 10 13 14.3 9 115
FK10 EK 10 12/14/15 10 8 36 15 M10X1 11 16 16.2 12 1.15
FK12 EK 12 14/15/16 12 10 36 15 M12X1 11 19(16) 19 14 (12) 1.35
FK15 EK 15 18/20 15 12 47 20 M15X1 13 20 23.9 15 1.35
FK 20 EK 20 25/28/30 20 17 62 25 M20X1 17 21 28.6 16 1.75
FK 25 - 30/32/36 25 20 76 30 M25X1.5 20 22 33 17 1.75
FK 30 - 36/40 30 25 72 38 M30X1.5 25 23 38 18 1.75

39

40



)
TBAI Shandong W&M Bearing Co., Lid.

RARBHBPABWKS

Specification Number

®
TBAI Shandong W&M Bearing Co., Lid.

SFU ( DIN 69051 Form B )if Bk I8 #F 1 #& K
Dimension Table of SFU(DIN69051 Form B )Ball Screws

HEREAS MmModel-number coding

EX.(l) SFT R 025 05 B 2 D G C5 1000 — PO B-Xi&7L 30° .. 157 % —
+ o 1
6-Xifi (Oil Hole)
(thr.) _
)
(1) (10) ; -
I =)
. NE d ------ St
(2) (9) &¢ &
- |
3) (8) 1
(4) (7) I S
(5) d=40 d=50 s
T : B2 g
(1) 18 g B = | Nut type codes ;r ﬁj‘m;'iﬁlnype”“t
'.i ';] = tgpe nut |: 5% Lead Da: EkfZBall Dia. n: BREB#Number of Circuits  K: R4 Stiffness (Kgf/pm)
S S: B421F Single nut F F : Bi&= With flange T . Df;‘:j:fmype nut Ca: Zh#iZE 17 Basic Dynamic Rating Load(Kgf) ~ Coa: ##iE 7 Basic Static Rating Load(Kgf) 2 {3 (Unit): mm
= © TRz A E : ERLSZNEE type nut
D: ¥U#21E Double nut C : k= Without flange . LT g RIRIZAT. 920E > EEHIE Dimensions
K : KEBZIEK type nut .
. o - EI=Model No.
U : DINARASZIEDIN nut d| 1| pa|D|A|B|L|[W|H|X|a|N| ca | Ccoa K
. e
(SFI. DFI. SFT. DFT. SFE. SFK) S ATk SFU 1204-4 12| 4 | 2381 | 24| 40 | 10| 40| 32| 30 | 45 4 902 1884 26
* | SFU1604-4 12| 4 | 2381 | 28 48| 10| 40| 38| 40 | 55| me | 4| o973 2406 32
* | SFU1605-4 16| 5 | 3175 | 28 | 48 | 10 | 50 | 38 | 40 | 55| me | 4 | 1380 3052 32
| (2) | B2 8 57 @ | Direction of helix * | SFU16103 | 16 | 10 | 3175 | 28 | 48 | 10 | 57 | 38 | 40 | 55 | M6 | 3 | 1103 2401 26
R:%&L:ZR: RightL: Left SFU 2004-4 20| 4 | 2381 | 36| 58| 10| 42| 47| 44 | 66 | m6 | 4 | 1066 2987 38
* | SFU2005-4 20| 5 [ 3175 | 36 | 58 | 10 | 51 | 47 | 44 | 66 | M6 | 4 | 1551 3875 39
| (3)| B#F T (mm) | Shaftdia.(mm) SFU2504-4 | 25 | 4 | 2381 | 40 | 62 | 10 | 42 | 51 | 48 | 66 | M6 | 4 | 1180 | 3795 | 43
* | SFU2505-4 25| 5 [ 3175 | 40 [ 62 | 10 [ 51 | 51 | 48 | 66 | M6 | 4 | 1724 4904 45
| (4)| F #(mm) | Lead (mm) SFU25064 | 25 | 6 | 3960 | 40 | 62 | 10 | 54 | 51 | 48 | 66 | M6 | 4 | 2318 6057 47
SFU 2508-4 25 | 8 | 4762 | 40| 62| 10| 63| 51| 48 | 66 | M6 | 4 | 2063 7313 49
| L
| (5) | HEH (B HXHI )| No.of Turn ( Circuits ) or Turn x Row * | SFU2510-4 25 | 10| 4762 | 40| 62| 12| 85| 51| 48 | 66 | M6 | 4 | 2054 7295 50
EH:T: 1(or.07)A: 1.5(or1.7)B: 2.5C: 3.5 fi:(B2=2.5X2) SFU 3204-4 32| 4 | 2381 | 50| 80| 12| 44| 65| 62 9 | M6 | 4| 1206 4838 51
(Turn) ex * | SFU3205-4 32| 5 [ 3175 | 50 | 80 | 12 | 52 | 65 | 62 o | M6 | 4| 1022 6343 54
SFU 3206-4 32| 6 | 3969 | 50| 80 | 12 | 57 | 65 | 62 o | M6 | 4| 2632 7979 57
6 Ry E ll
| (6) | & B | Flange type SFU 3208-4 32| 8 | 4762 | 50| 80 | 12 | 65 | 65 | 62 o | M6 | 4| 3387 0622 60
N: Z¥1i S: B D: WPz N: Notcutting S:Single cutting D:Double cutting * SFU 3210-4 32| 10| 6350 | 50 | 80 | 12 | 90 | 65 | 62 9 M6 | 4 | 4805 12208 51
* | SFU40054 | 40 | 5 | 3175 | 63 | 93 | 14 | 55 | 78 | 70 o | M8 | 4| 2110 7988 63
| = C u
| (7) | W oE R | Produce code SFU4006-4 | 40 | 6 | 3969 | 63| 93 | 14 | 60 | 78 | 70 o | M6 | 4| 2873 9913 66
G:®HE F:#i&E G: Grinding F: Rolled SFU 4008-4 40 | 8 | 4762 | 63| 93 | 14 | 67 | 78 | 70 9 | M6 | 4| 3712 11947 70
* | SFU4010-4 | 40 | 10 | 6350 | 63 | 93 | 14 | 93 | 78 | 70 o | M8 | 4| 5399 15500 73
%
[(8)| SBREES S | Accuracy grade code SFU5010-4 | 50 | 10 | 6350 | 75 [ 110 | 16 | 93 | 93 | 85 | 11 | M8 [ 4 | 6004 | 19614 | &5
Co. C1, C2, C3, C5., C7, C10 * SFU 5020-4 50 | 20 | 7.144 | 75 | 110 | 16 | 138 | 93 | 85 1 | M8 | 4| 7142 22588 94
* | SFU6310-4 63 | 10 | 6350 | 95 | 125| 18 | 98 | 108| 95 | 11 | M8 | 4 | 6719 25358 99
| (9) | BHEMEK (mm) | Overall length of shaft(mm ) SFU 6320-4 63 | 20 | 9525 | 95 | 135 | 20 | 149 | 115| 100 | 13.5| M8 | 4 | 11444 | 36653 112
: . * - 80 | 10 | 6.350 | 105|145 | 20 | 98 | 125 110 | 135 M8 | 4 | 7346 31953 109
1(10)] A MBEBEBEZ SR | Axial clearance and preload code SFU 8010-4
SFU 8020-4 80 | 20 | 9525 | 125|165 | 25 | 154 | 145 130 | 135 M8 | 4 | 12011 | 47747 138
PO. P1. P2, P3. P4 SFU10020-4 | 100 | 20 | 9.525 | 150 | 202 | 30 | 180 | 170 | 155 | 17.5| M8 | 4 | 14303 | 60698 | 162

%t BiREXIEEE T HI1EA 24 Note:with sign % can produce left helix

41 42



®
TBAI Shandong W&M Bearing Co., Lid. TBAI?handong W&M Bearing Co., Lid.

SFERBRIZFF 4% 3K B (TYPE ) : SFE

Dimension Table of SFI Ball Screws

Qimfl Qi 7l
(Gil Hole) —'l—r—z ( Oil Hole )
o
i = )
R i >—E__r‘k:. < : ;
=i :
@ ,,,,,,,,, _ _Jg o
a 4-X @7 <| __ T | T ESE SEE | ) . SU. 0. .. B O
- i (thr) = o
“,.P_- R il
s
H A L E.LB
H L
I: 572 Lead Da: ZkfZBall Dia. n: EREZINumber of Circuits  K: RNI4 Stiffness ( Kgf/pm ) ) .
Ca: ZWEAZE 177 Basic Dynamic Rating Load(Kgf)  Coa: B#izE 1% Basic Static Rating Load(Kgf) {3 (Unit): mm I: S48 Lead Da: IffZBallDia.  n: IREI#Numberof Circuits  K: RIE Stiffness (Kgf/pm)
Ca: ZWEAZE fafa Basic Dynamic Rating Load(Kgf)  Coa: ¥ f17 Basic Static Rating Load(Kgf) B {7 (Unit): mm
RERIBAT, 1208 > B /HEHIE Dimensions
;=2 N N B 2k . .
&5 Model No. RERIEAT, 1208 > B HIE Dimensions
d| 1 | pa|D|A|B|L|W|H|X]|Y]|Z] a|N|[CalCoal|K # 2Model No.
d | Da D|A|E| B]|L]| X W H | Q N Ca | Coa | K
* SFI11604-4 16| 4 | 2381 | 30| 49| 10 | 45| 39 | 34 | 45| 8 |45| me | 4 | 973 | 2406 | 32
SFE1616-3 16 | 16 | 2778 | 32| 53 |10.1| 10 | 38 | 45 | 42 | 34 |me| 1.7x2 | 1021 | 2409 | 29
* SFI11605-4 16| 5 | 3175 | 30 | 49 | 10 | 50 | 39 | 34 | 45| 8 |45| ms | 4 |1380| 3052 | 33
SFE1616-6 16 | 16 | 2778 | 32| 53 |10.1| 10 | 38 | 45 | 42 | 34 |Mm6| 1.7x4 | 1853 | 4818 | 57
- 16 | 10 | 3175 | 34 | 58 | 10 | 57 | 45 4 . _ 1
* SFi1610-3 3 55| 95|55 M6 | 311103 2401 27 SFE1632-3 16 | 32| 3175 | 34 | 55 |105| 10 | 34 | 55 | 45 | 36 |M6| 0.7x2 | 518 | 1094 | 11
* SF12004-4 20 | 4 | 2381 | 34| 57 | 11 | 46 | 45| 40 | 55| 95 55| M6 | 4 | 1066 2987 | 37 SFE1632-6 16 | 32 | 3175 | 34 | 55 [105| 10 | 34 | 55 | 45 | 36 |M6| 0.7x4 | 939 | 2188 | 21
* SFI12005-4 20 5 3.175 34 | 57 11 51 45 40 55| 95 |55| M6 | 4 |1551| 3875 | 39 SFE2020-3 20 20 | 3.175 39 | 62 | 115 10 | 47 | 55 50 41 |M6| 1.7x2 | 1321 | 3320 | 35
N SFI205T-4 20 | 508 3175 | 34 | 57 | 11 | 51| 45 | 40 | 55| 95 55| me | 4 SFE2020-6 21| 20 | 3175 | 39| 62 |115| 10 | 47| 55 | 50 | 41 |M6| 1.7x4 | 2397 | 6640 | 67
SFE2040-3 22 | 40 | 3175 | 38 | 58 | 11 | 10 | 41 | 55 | 48 | 40 |M6| 0.7x2 | 582 | 1397 | 13
* SFI2504-4 25 | 4 | 2381 | 40| 63 | 11 | 46| 51| 46 | 55| 95 |55| M6 | 4 |1180| 3795 | 43
SFE2040-6 23 | 40 | 3175 | 38 | 58 | 11 | 10 | 41 | 55 | 48 | 40 |M6| 0.7x4 | 1056 | 2794 | 26
* SFI2505-4 25| 5 | 3175 | 40 | 63 | 11 | 51 | 51 | 46 | 55 | 95 (55| M8 | 4 |1724| 4904 | 45 SFE2525.3 5 | 25| 3960 | 471 72 1 13| 101 57 | 66 | 60 | 49 |M6| 1.7x2 | 1974 | 5188 | 43
* SF12510-4 25 | 10 | 4762 | 46 | 72 | 12 | 85| 58 | 52 | 65 | 11 |65| M6 | 4 |2954| 7295 | 51 SFE2525-6 25 | 25 | 3969 | 47 | 74 | 13 | 12 | 57| 6.6 | 60 | 49 |M6| 1.7x4 | 3583 | 10377 | 83
* | SFI3204-4 32| 4 | 2381 | 46| 72| 12 | 47| 58 | 52 | 65 | 11 |65 M6 | 4 |1296 | 4838 | 49 SFE2550-3 | 25 | 50 | 3.969 | 46 | 70 | 13 | 12 ] 50 | 6.6 | 58 | 48 |M6| 0.7x2 | 870 | 2183 | 16
SFE2550-6 25 | 50 | 3969 | 46 | 70 | 13 | 12| 50 | 6.6 | 58 | 48 |M6| 0.7x4 | 1579 | 4366 | 32
* SFI13205-4 32| 5 | 3175 | 46 | 72 | 12| 52| 58 | 52 | 65| 11 |65| M8 | 4 |1922| 6343 | 52
SFE3232-3 32 | 32| 4762 | 58| 92 | 16 | 12| 71| 9 74 | 60 |M6| 1.7x2 | 2876 | 8207 | 54
SF13210-4 32 | 10| 635 | 54| 88 | 15| 90| 70 | 62 9 14 | 85| M8 | 4 |4805]| 12208]| 62
SFE3232-6 32 | 32| 4762 | 58| 92 | 16 | 12| 71| 9 74 | 60 |M6| 1.7x4 | 5220 | 16414 | 106
* SF14005-4 40 | 5 | 3175 | 56 | 90 | 15| 55 | 72 | 64 | 9 | 14 |85 M8 | 4 |2110| 7988 | 59 SFE3264-3 32| 64| 4762 | 58| 92 |155| 12 | 62| 9 | 74 | 60 |M6| 0.7x2 | 1225 | 3282 | 20
SF14010-4 40 | 10| 635 | 62 |104| 18 | 93 | 82 | 70 | 11 | 175|111 | M8 | 4 5399 15500| 72 SFE3264-6 32 | 64 | 4762 | 58 | 92 |155| 12 | 62 | 9 74 | 60 |M6| 0.7x4 | 2223 | 6565 | 39
SF1 50104 50| 101 635 | 72 | 114 | 18 | 93 | 92 | 82 | 11 | 175| 11| m8 | 4 |6004 | 19614 | 83 SFE4040-3 40 | 40 | 6350 | 73 | 114 | 19 | 15 | 89 | 11 93 | 75 |M6| 1.7x2 | 4600 | 13281 | 66
SFE4040-6 40 | 40 | 6350 | 73 | 114 | 19 | 15 | 89 | 11 93 | 75 |M6| 1.7x4 | 8348 | 26561 | 128
SF16310-4 63 | 10 | 635 | 85 | 131| 22 | 98 | 107| 95 | 14 | 20 | 13| M8 | 4 |6719|25358| 95
SFE5050-3 50 | 50 | 7.938 | 90 | 135 |21.5| 20 | 107| 14 | 112 | 92 |M6| 1.7x2 | 6512 | 19430 | 80
- 80 | 10 | 635 | 105|150 | 22 | 98 | 127 | 115 | 14 | 20 | 13| M8 | 4
SF18010-4 734631953 109 SFE5050-6 50 | 50 | 7.938 | 90 | 135 |215| 20 | 107| 14 | 112 | 92 |M6| 1.7x4 |11820| 38859 | 155

& BT xRS E T H{EAL 24 Note:with sign % can produce left helix

43 44



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

DFU ( DIN 69051 Form B iR B 12+ F 3148 R DFEREKIZFF LM R

Dimension Table of DFU(DIN69051 Form B )Ball Screws Dimension Table of DFI Ball Screws
1:(—“’1 :i: (%iim:éle)

|: 5% Lead Da: Ekf®BallDia. n: ZkEBIZINumber of Circuits  K: M4 Stiffness ( Kgf/pm) . 272 Lead Da: H/ZBall Dia n: BEMNumberof Gircuits  K: Al Stiffness ( Kgfpm)

. ZHERTE $2 74 Basic D ic Rating Load(Kgf : B$EUE T Basic Static Rating Load(Kgf i (Unit): e . . . 5 I . .
Ca: ##iE 51157 Basic Dynamic Rating Load(Kgf)  Coa: ###iiE f115 Basic Static Rating Load(Kgf) B4 (Unit): mm Ca: ZWEAE £175 Basic Dynamic Rating Load(Kgf)  Coa: ¥ f 15 Basic Static Rating Load(Kgf) B {7(Unit): mm
3Z5 I A= 3 . .
o RIRIEAT. 1218z B /EHIE Dimensions ATRIEAT . 4218 > B 5 IR Dimensions
#l=SModel No. #5Model No
[ Da D|A|B| L|W]| H X N a oa K =% :
d N c c d I Da D| A| B| L|W]| H X | Y |[Z]|] Q| N| Ca| Coal| K

DFU 1604-4 16 | 4 | 2381 | 28| 48 | 10 | 80| 38| 40 | 55| M6 | 4 973 2406 43

* DFI| 1604-4 16 | 4 | 2381 | 30| 49 | 10| 80| 39 | 34 | 45| 8 |45| me | 4 | 973 | 2406 | 44
DFU 1605-4 16 | 5 | 3175 | 28 | 48 | 10 | 100| 38 | 40 | 55 | M6 | 4 1380 3052 44

* DFI| 1605-4 16| 5 | 3175 | 30 | 49 | 10 | 100| 39 | 34 | 45| 8 |45| me | 4 [1380| 3052 | 44
DFU 1610-3 16 | 10 | 3175 | 28 | 48 | 10 | 118| 38 | 40 | 55| M6 | 3 1103 2401 35
DEU 2004-4 0| 4 | 2381 | 36 | 58 | 10| 80 | 47 | 44 | 66 | M6 | 4 1066 2987 51 * DF|2004-4 20 | 4 | 2381 | 34| 57 | 11| 8 | 45| 40 | 55| 95 |55| M6 | 4 | 1066 | 2987 | 51
DFU 2005-4 20| 5 | 3175 | 36| 58 | 10 | 101| 47| 44 | 66 | M6 | 4 1551 3875 53 * DF|2005-4 20| 5 | 3175 | 34| 57 | 11 | 101| 45| 40 | 55| 95 (55| M6 | 4 |1551| 3875 | 52
DFU 2504-4 25 | 4 | 2381 | 40| 62 | 10 | 80 | 51 | 48 | 66 | M6 | 4 1180 3795 60 * DFI 2504-4 25 | 4 | 2381 | 40| 63 | 11 | 80 | 51| 46 | 55| 95 (55| M6 | 4 |1180| 3795 | 60
DFU2505-4 | 25 | 5 | 8175 | 40| 62 | 10 | 101] 51 ) 48 | 66 | M6 | 4 | 1724 | 4904 62 x| DFI25054 | 25| 5 | 3175 | 40| 63 | 11 | 101] 51| 46 | 55| 95 |55 M8 | 4 | 1724 | 4904 | 62
DFU 2510-4 25 | 10 | 4762 | 40 | 62 | 12 | 145| 51 | 48 | 66 | M6 | 4 | 2954 7295 67

* DFI|2510-4 25 | 10 | 4762 | 46 | 72 | 12 | 145| 58 | 52 | 65 | 11 [65| M6 | 4 |2954| 7295 | 68
DFU 3204-4 32| 4 | 2381 | 50| 80 | 12 | 80 | 65 | 62 9 | Mé | 4 1296 4838 71

DF| 3204-4 32 | 4 | 2381 | 46| 72 | 12| 80| 58| 52 | 65| 11 |65| M6 | 4 |1296| 4838 | 39

DFU 3205-4 32| 5 | 3175 | 50 | 80 | 12 | 102| 65 | 62 9 | M6 | 4 1922 6343 74
DFU 3210-4 32 | 10| 6350 | 50 | 80 | 12 | 162 65 | €2 9 | me | a| 4805 12208 82 DF| 3205-4 32| 5 | 3175 | 46 | 72 | 12 | 102| 58 | 52 | 65 | 11 [65| M8 | 4 |1922| 6343 | 72
DFU 4005-4 40 | 5 | 3175 | 63| 93 | 14 | 105| 78 | 70 o | M8 | a| 210 7988 87 * DFI13210-4 32 | 10| 635 | 54| 88 | 15 | 162| 70 | 62 9 14 85| M8 | 4 | 480512208 83
DFU 4010-4 40 | 10 | 6350 | 63 | 93 | 14 | 165| 78 | 70 9 | M8 | 4| 5399 15500 99 * DFI 4005-4 40 | 5 | 3175 | 56 | 90 | 15 | 105| 72 | 64 9 14 85| M8 | 4 |2110| 7988 | 84
DFUS5010-4 | 50 | 10 | 6.350 | 75 | 110 ) 16 | 171) 93 | 8 | 11 | M8 | 4 | 6004 | 19614 | 117 % | DFl40104 | 40| 10| 635 | 62 | 104| 18 | 165| 82 | 70 | 11 | 175| 11| m8 | 4 |5399| 15500 99
DFU 6310-4 63 | 10 | 6.350 | 95 | 125 | 18 | 182| 108 | 95 1 | M8 | 4| 6719 25358 139

* DF15010-4 50 | 10 | 635 | 72 | 114 | 18 | 171| 92 | 82 11 | 17511 | M8 | 4 | 6004 | 19614 | 115
DFU 6320-4 63 | 20 | 9525 | 95 | 135 | 20 | 290 | 115| 100 | 13.5| M8 | 4 | 11444 | 36653 152

* DF16310-4 63 | 10 | 635 | 85 | 131 | 22 | 182 107| 95 | 14 | 20 | 13| M8 | 4 |6719| 25358 135
DFU 8010-4 80 | 10 | 6.350 | 105| 145 | 20 | 182| 125| 110 | 135| M8 | 4 | 7346 31953 156
DFU 8020-4 80 | 20 | 9525 | 125 165 | 25 | 295 | 145| 130 | 135| ms | 4 | 12911 | 47747 187 * DF18010-4 80 | 10 | 635 | 105|150 | 22 | 182 127 | 115 | 14 | 20 | 13| M8 | 4 |7346| 31953 | 156

. Al xiaE [ ™ with si ) ‘ N ‘
#it . BT xRS E /T HIEAIZ S Note:with sign % can produce left helix S5k AR % 325 I/ 884 Notemwith sign  can produce left helix

45 46



® ®
TBAI Shandong W&M Bearing Co., Lid. TBAI Shandong W&M Bearing Co., Ltd.

ST A Highspeed mute BIsC(TYPE) : SFY
B (TYPE ) : SFS (DIN 69051 FORM B)

Qi 7l

. o 150
8-XiE L 30 S Q 7L ( Oil Hole )
{thr) (Oil Hole)
T - 1
. L
i o o
, < il 5 6 S - . i e
= ‘@ ASURESY 4-X @ S| - | A — EEE SR | L G . - - 3| 8
(thr)
H H LBl | . =1
d<40 d=50 R E— El B
I: 5% Lead Da: ZkfZBallDia.  n: ERE#INumber of Circuits  K: RI% Stiffness ( Kgf/pm) H L
Ca: Zh%iE £ 77 Basic Dynamic Rating Load(Kgf)  Coa: #1175 Basic Static Rating Load(Kgf) # {7 (Unit): mm
RERIRAT, 1218 2 B H#EZHE Dimensions
EJ=Model No. .
d I Da D A B L W H X Q N Ca Coa K I: §7 Lead Da: EkfZBallDia.  n: EEEI#Number of Circuits  K: RI% Stiffness ( Kgf/pm)
Ca: ##iE £175 Basic Dynamic Rating Load(Kgf)  Coa: #&#%ixE 175 Basic Static Rating Load(Kgf) # {7 (Unit): mm
SFS012052.8 | 12 | 5 25 24 | 40 | 10 | 31 | 32 | 30 | 45 2.8x1 | 661 1316 19
SFS01210-2.8 | 12 | 10 25 24 | 40 | 10 |485] 32 | 30 | 45 2.8x1 | 642 1287 19 3 4218 = 2 552 Dimensions
SFS01605-3.8 | 15 | 5 | 2.778 | 28 | 48 | 10 | 38 | 38 | 40 | 55 | M6 | 3.8x1 | 1112 | 2507 30 F12Model No RIRIRAT. IRIR ERE
SFS01610-2.8 | 15 | 10 | 2.778 | 28 | 48 | 10 | 47 | 38 | 40 | 55 | M6 | 2.8x1 | 839 1821 23 =% g | b ol alels Ll wl s x NG N K
SFS01616-1.8 | 15 | 16 | 2.778 | 28 | 48 | 10 | 45 | 38 | 40 | 55 | ™6 | 1.8x1 | 552 1137 14 a Q a oa
2. 15 | 1 2.77 28 | 4 1 1 4 .
S e 26 B8 769 22 SFY01616-3.6 | 16 | 16 | 2778 | 32 | 53 |10.1] 10 | 45 | 42 | 34 | 45 | M6 |18x2| 1073 | 2551 | 31
SFS02005-3.8 | 20 | 5 | 3175 | 36 | 58 | 10 | 40 | 47 | 44 | 6.6 | M6 | 3.8x1 | 1484 | 3681 37 SFY01616-56 | 16 | 16 | 2778 | 32 | 53 |10.1| 10 | 61 | 42 | 34 | 45 | M6 |2.8x2| 1568 | 3968 | 47
SFS02006-4.8 | 20 | 6 | 3175 | 36 | 58 | 10 | 50 | 47 | 44 | 6.6 | M6 | 4.8x1 | 1811 4644 47
SFS0200848 20 1 8 1 3475 | 36 | 58 | 10 | 60 | 47 | 44 [ 66 | wme 4_g§1 1863 | 4861 0 SFY02020-36 | 20 | 20 | 3175 | 39| 62 | 13 | 10 | 52 | 50 | 41 | 55 | me |1.8x2| 1387 | 3515 | 37
SFS02010-3.8 | 20 | 10 | 3.175 | 36 | 58 | 10 | 60 | 47 | 44 | 6.6 | M6 | 3.8x1 | 1516 | 3833 40 SFY02020-56 | 20 | 20 | 3175 | 39| 62 | 13 | 10 | 72 | 50 | 41 | 55 | M6 |2.8x2| 2029 | 5468 | 56
SFS02020-1.8 | 20 | 20 | 3.175 | 36 | 58 | 10 | 57 | 47 | 44 | 6.6 | M6 | 1.8x1 | 764 1758 19
SFS02020-2.8 20 20 3.175 36 58 10 77 47 44 6.6 M6 2 8x1 1118 2734 29 SFY02525-3.6 25 25 3.969 47 74 15 12 64 60 49 6.6 M6 [1.8x2| 2074 5494 45
SFS02505-38 | 25 | 5 | 3.175 | 40 | 62 | 10 | 40 | 51 | 48 | 6.6 | ™6 | 3.8x1 | 1650 | 4658 | 43 SFY02525-56 | 25 | 25 | 3.969 | 47 | 74 | 15 | 12 | 89 | 60 | 49 | 6.6 | M6 |2.8x2| 3032 | 8546 | 69
SFS02506-4.8 | 25 | 6 | 3.175 | 40 | 62 | 10 | 50 | 51 | 48 | 6.6 | M6 | 4.8x1 | 2015 | 5879 55
SFS02508-4.8 | 25 | 8 | 3175 | 40 | 62 | 10 | 60 | 51 | 48 | 6.6 | M6 | 4.8x1 | 2009 | 5867 56 SFY03232-3.6 | 32 | 32 | 4762 | 58 | 92 | 17 | 12 | 78 | 74 | 60 | 9 | M6 |1.8x2| 3021 | 8690 | 58
SFS02510-3.8 | 25 | 10 | 3175 | 40 | 62 | 12 | 62 | 51 | 48 | 66 | M6 | 3.8x1 ] 1638 | 4633 | 45 SFY03232-56 | 32 | 32 | 4762 | 58 | 92 | 17 | 12 | 110| 74 | 60 | 9 | M6 |2.8x2| 4417 | 13517 | 88
SFS02525-1.8 | 25 | 25 | 3.175 | 40 | 62 | 12 | 70 | 51 | 48 | 6.6 | M6 | 1.8x1 | 842 2199 22
SFS02525-2.8 25 25 3.175 40 62 12 95 51 48 6.6 M6 2.8x1 1232 3421 34 SFY04040-3.6 40 40 6.35 73 | 114 | 19.5] 15 99 93 75 1 M6 |1.8x2| 4831 14062 70
SFS03206-4.8 | 32 | 6 | 3175 | 50 | 80 | 12 | 51 | 65 | 62 9 M6 | 4.8x1 | 2247 | 7608 65 SFY04040-5.6 : i M6 |2.5x
SFS03208-4.8 | 31 | 8 | 3.969 | 50 | 80 | 12 | 62 | 65 | 62 9 M6 | 4.8x1 | 3015 | 9181 68 SFY05050-3.6 | 50 | 50 | 7.938 | 90 | 135 |21.5| 20 | 117 | 112| 92 | 14 | M6 |1.8x2| 7220 | 21974 | 86
SFS03210-3.8 | 31 | 10 | 3.969 | 50 | 80 | 13 | 62 | 65 | 62 9 M6 | 3.8x1 | 2460 | 7255 55
SFe0352028 137 T 20 T 5980 T 50 T80 112 T80 65 [ 62 5 ve T 58 11907 T 5182 73 SFY05050-5.6 | 50 | 50 | 7.938 | 90 | 135 |21.5| 20 | 167 | 112 | 92 | 14 | M6 |2.8x2| 10558 | 34182 | 131
SFS03232-1.8 | 31 | 32 | 3.969 | 50 | 80 | 13 | 84 | 65 | 62 9 M6 | 1.8x1 | 1257 | 3426 27 SFY01632-1.6 | 16 | 32 | 2778 | 32 | 53 |10.1| 10 |425| 42 | 34 | 45| M6 |0.8x2| 493 | 1116 11
SFS03232-2.8 | 31 | 32 | 3.969 | 50 | 80 | 13 | 116 | 65 | 62 9 M6 | 2.8x1 | 1838 | 5329 42
SFS0400558 40 1T 5 T 3175 T 63 [ 93 [ 15 45 78 | 70 5 Vs T 581 12018 T 7589 50 SFY01632-36 | 16 | 32 | 2778 | 32 | 53 |10.1| 10 |745| 42 | 34 | 45| M6 |1.8x2| 989 | 2511 23
SFS04006-4.8 | 40 | 6 | 3175 | 63 | 93 | 14 | 50 | 78 | 70 9 M6 | 4.8x1 | 2467 | 9583 77 SFY02040-16 | 20 | 40 | 3175 | 39| 62 | 13 | 10 | 48 | 50 | 41 | 55 | M6 |0.8x2| 653 | 1597 | 15
4. 38 | 8 | 3.969 | 63 | 93 | 14 | 61 | 78 | 70 9 M6 ] 3327
B I B O B e I I O I i SFY02040-36 | 20 | 40 | 3175 | 39 | 62 | 13 | 10 | 88 | 50 | 41 | 55| M6 |1.8x2| 1311 | 3592 | 30
SFS04020-2.8 | 38 | 20 | 6.35 | 63 | 93 | 14 | 82 | 78 | 70 9 M8 | 2.8x1 | 3959 | 10715 | 54 SFY02550-1.6 | 25 | 50 | 3.969 | 47 | 74 | 15 | 12 | 58 | 60 | 49 | 6.6 | M6 |0.8x2| 976 | 2495 | 19
SFS04040-1.8 | 38 | 40 | 6.35 | 63 | 93 | 15 | 105 [ 78 | 70 9 M8 | 1.8x1 | 2585 | 6648 34
SFS0404028 | 38 | 40 | 635 | 63 1 93 | 15 [ 145 78 | 70 5 e T 2ax1 3780 | 10341 2 SFY02550-36 | 25 | 50 | 3.969 | 47 | 74 | 15 | 12 | 108 | 60 | 49 | 6.6 | M6 |1.8x2| 1960 | 5614 | 32
SFS05005-3.8 | 50 | & | 31475 | 75 | 110 | 15 | 45 | 93 | 85 | 11 | ™m8 | 3.8x1 | 2207 | 9542 68 SFY03264-16 | 32 | 64 | 4762 | 58 | 92 | 17| 12 | 71| 74| 60 | 9 | M6 |0.8x2| 1374 | 3571 | 22
SFS05010-3.8 | 48 | 10 | 6.35 | 75 | 110 | 18 | 68 | 93 | 85 11 | m8 | 3.8x1 | 5638 | 17852 | 79
SFS05012-3.8 48 12 6.35 75 | 110 18 75 93 85 11 M8 3.8il 5635 17836 81 SFY03264-3.6 32 64 4.762 58 92 17 12 135 | 74 60 9 M6 [1.8x2| 2759 8441 46
SFS05020-3.8 | 48 | 20 | 635 | 75 | 110 | 18 | 108 | 93 | 85 | 11 | ms | 3.8x1| 5749 | 18485 | 87 SFY04080-16 | 40 | 80 | 635 | 73 | 114 |19.5| 15 | 90 | 93 | 75 | 11 | M6 [0.8x2| 2273 | 6387 | 29
SFS05050-1.8 | 48 | 50 | 6.35 | 75 | 110 | 18 | 125 | 93 | 85 11 | ms | 1.8x1 | 2946 | 8749 42
SFS05050-2.8 48 50 6.35 75 | 110 | 18 | 175 | 93 85 11 M8 2.8x1 4308 13610 65 SFY04080-3.6 40 80 6.35 73 | 114 [ 19.5] 15 | 170 | 93 75 TI M6 | 18x2| 4566 | 14370 50
SFS06316-3.8 | 61 | 16 | 6.35 | 90 | 125 | 18 | 95 | 108 | 95 11 | m8 | 3.8x1 | 6327 | 23262 | 100
SFS06320-3.8 | 61 | 20 | 7.144 | 95 | 135 | 20 | 116 | 115 | 100 | 13.56 | M8 | 3.8x1 | 7493 | 26424 | 105 SFY050100-3.6 | 50 | 100 | 7.938 | 90 | 135 [21.5| 20 | 211 | 112 | 92 | 14 | M6 |1.8x2| 6824 | 22455 | 72
SFS08010-3.8 | 77 | 10 | 6.35 | 105| 145 | 20 | 70 | 125 | 110 | 13.5 | M8 | 3.8x1 | 6980 | 29563 | 105 B . \
SFS08020-3.8 77 | 20 | 9525 [ 125|165 25 [ 120 [ 145 130 | 135 | ms 3.8x1 | 12145 | 43598 | 128 %t BIRE xRS E /T H1EAZ S Note:with sign % can produce left helix
SFS10020-3.8 | 96 | 20 | 12.7 | 150 | 202 | 30 | 124 | 176 | 155 | 17.56 | M8 | 3.8x1 | 19633 | 71408 | 152

47 48



	1: 封底-封面
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25

